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a) Recognise their own and other people’s emotions

b) Expressing their emotions strongly

(c) Use emotional information to guide thinking and behaviour
(d) Good observation, scientific thinking and deductive reasoning,

e) Adjusting emotions to adapt to environments
(f)  Being creative and open to diverse viewpoints
Code :
Options:

(a), (d) and (f)

91334592401,

91394392402, (c), (e) and (f)

(a), (c) and (e)

2912334592403,

(b), (d) and (e)

91334592404,

Question Number : 1 Question Id : 91394323529 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(a), (d) 3R (f)

913345392401,

(), (e) 3 (f)

913345392402,

(@), (c) 3R (e)

91334592403,
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91334592404,

Question Number : 2 Question Id : 91394323530 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following can best be used as an asynchronous teaching aid ?

(a) Skype (b) Blog (c) Facebook post
(d) Online chat (e) Email (f)  Google Hangout
Code :
Options:

(a), (c) and (f)

2915334232405,

(), (e) and (f)

913345924086,

(a), (b) and (c)

91334592407,

(b), (c) and (e)

91334592408,

Question Number : 2 Question Id : 91394323530 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

91394392405, (ﬂ)’ (

9133453924086,

2915334232407,

B913345392408.
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uestl

SingleLine bption : No Option Orientation : Vertical Your Personal Exams Guide
Correct Marks: 2 WrongMarks: 0
The goal of formative assessment is to :
Options:
2 .
91294395409, Promote student to next level

Monitor student learning to provide ongoing feedback
91394392410,

Compare student learning against a standard or benchmark
91394392411,

Form a group of students on the basis of their learning
91394392412,

Question Number : 3 Question Id : 91394323531 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
T *
fraioTeHs godish &1 @8 @ :

Options:

faanet =1 1T =R T F2H ]

913394592409,

Had Wieded Yer faenet Aferm =1 e

2915334232410,

Tk HFF Y] d=Hh & ER G foqnei s1fm =61 o

2915334232411,

ferenferai & Ifer™ & STTER T 3% THE M

9133459241%2.

Question Number : 4 Question Id : 91394323532 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a school, in which there are large number of failures, you may like to develop test for

eliminating those who are likely to have substantial difficulties in meeting the academic

goals of teaching. For this you need to develop test which should be able to predict the
individual’s ability or readiness to undertake the study of a school subject successfully. What

is the name of such tests ?
Options:

Prognostic tests
91394392413

91394392414 Achievement tests
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Analvtical tests
91394392416, .

Question Number : 4 Question Id : 91394323532 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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9123345392416,

Question Number : 5 Question Id : 91394323533 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In teaching learning context, results of an evaluation are useful to teachers in various ways.
Which among the following is most important use for a teacher ?

Options:
planning instruction and knowing the effectiveness of the teaching strategies used by

91394392417 Lhem.

T getting information about student’s study interests.

" ““ C % " I_‘ .L.' 1 ] 1 L.' . 1 " I..'l
1504390410 (O decide placement of students in other institutions

to identify home influence on students.
91394392420, »

Question Number : 5 Question Id : 91394323533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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913345392420,

Question Number : 6 Question Id : 91394323534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The characteristics of scientific method of research are :

(a) Empiricism (b)  Objectivity (c) Systematic
(d) Secretive (e) Security related (f)  Predictive
Code :
Options:

(a), (b), (d) and (e)

91394392421,
91394392422, (€), (d), (e) and (f)

(d), (e), (f) and (a)

B91334592423.

(a), (b), (c) and (f)

21594292424,

Question Number : 6 Question Id : 91394323534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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91334592421,

(c), (d), (e) 3R (f)

91334592422,

(d), (), (f) 3R (a)

H1334592423.

(a), (b), (c) ¥R (f)

2915394232424,

Question Number : 7 Question Id : 91394323535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a research setting, participants may act differently because they think they are getting
special attention. This reaction of treatment group to the special attention rather than the
treatment itself is called as :

Options:

it ; 2
0159439045 Hawthrone effect

1394390406, L2 ttention deficit

Jung effect
91394392427, -

Marlov effect
91394392428,

Question Number : 7 Question Id : 91394323535 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

YU 9d

913345392425

B12334592426. el aﬁ =l

RALIAIE
913345392427,
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Correct Marks: 2 WrongMarks: 0

When a reviewer reviews a research article without knowing the author’s name, it is referred
to as :

Options:

Anonymous review
91394392429, /

: ) P . _—
91294395430, Behind - the - curtain review

, g
0139439043, DLNA review

Uns:ategnrised review
91394392432,

Question Number : 8 Question Id : 91394323536 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

THATH T

913345392429

- e GHtet

913345392430

- SAYHE THIET

9133942324351

91334539243%. = i E-’l:ﬁ.&ﬂ

Question Number : 9 Question Id : 91394323537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The kind of numbers which do not represent amounts but instead represent kind (different
qualities, types or categories) are called as :

Options:

YN
91394392433, Nominal

41394290434, Ordinal

ey
2915334232455, Prime
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Question Number : 9 Question Id : 91394323537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

ERIREY

913345392433,

2915342324354, l |

91334592435, S

2915342324356, 1I

Question Number : 10 Question Id : 91394323538 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Poster sessions in research conferences provide better opportunities for :

Options:
Formal speeches

91394392437, Ol 5P

Disp[av of common interest
91394392438, A

Focus group discussions
91394392439,

Inter-personal interactions
91394392440,

Question Number : 10 Question Id : 91394323538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

A= YTy

215942924357,

e fedi =1 yevH

91334592438,
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913345392439,

siqaafads 3ia: e

B913345392440,

Sub-Section Number: 2
Sub-Section 1d: 9139431253
Question Shuffling Allowed : Yes

Question Id : 91394323539 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuesticon Label | Comprehiension

Read the passage carefully and answer questions 11 to 15 :

Today, in the digital age, who owns information owns the future. In this digital world, we
face a fundamental choice between open and closed. In an open world information is shared by
all freely available to everyone. In a closed world information is exclusively owned and controlled
by a few. Today, we live in a closed world a world of extraordinary and growing concentrations
in power and wealth. A world where innovation is held back and distorted by the dead hand of
monopoly; where essential medicines are affordable only to the rich, where freedom is threatened
by manipulation, exclusion and exploitation; and each click you make, every step you take, they
will be watching you. By contrast, in an open world all of us would be enriched by the freedom to
use, enjoy and build on everything from statistics and research to newspaper stories and books,
from software and films to music and medical formulae. In an open world, we would pay innovators
and creators more and more fairly, using market-driven remuneration rights in place of intellectual
property monopoly rights. As they have improved, digital technologies have taken on ever more
of the tasks that humans used to do, from manufacturing cars to scheduling appointments. And
in the next few decades, artificial intelligence may well be not only driving our cars for us but
drafting legal contracts and performing surgery. On the face of it, we have much to gain if machines
can spare us tedious or routine tasks and perform them with greater accuracy. The danger, though,
is that robots run on information-software, data algorithms and at present the ownership of this
sort of information is unequal. And because it is protected by our closed system of intellectual
property rights.

Sub questions

Question Number : 11 Question Id : 91394323540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
How will an open world function ?

Options:
o1za4390441  VVith limited choices

Information is available to everyone
91394392442, )

91394392443, Information is exclusive
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Question Number : 12 Question Id : 91394323541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of these characteristics of a closed world ?

a) Concentration in power and wealth increases.
b) Innovation is controlled.

c)  Only the rich have access to medicines.

(

(

(

(d) Freedom is manipulated.

(e) Information is shared by all.
(

fy  Creativity is recognised.

Options:

(a), (b), (c) and (d)

B912334592445.

(b), (c), (d) and (e)

21594292446,

91394392447 (©), (d), (e) and (f)

(d), (e), (f) and (a)

9133453924458,

Question Number : 13 Question Id : 91394323542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What is the status of intellectual property rights in an open world ?
Options:
1594390449 1 NEY are monopoly rights

S Medical formulae are restricted

Replaced by remuneration rights
91394392451, ’

Protected proprietorial rights
91394392452,

Question Number : 14 Question Id : 91394323543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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What is the impact of digital technologies on the present day world ?

Options:
iy w w ;r g * w
1394390453 —reativity is sidelined.

a15043904c, Mechanical accuracy is distorted

T'edious tasks see an upward trend.
91394392455

Human tasks are performed by machines.
91394392456 y

Question Number : 15 Question Id : 91394323544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The crux of the passage contains the following statements :

(a) Digital technology is dangerous.

(b)  Those who own information will own the future.

(c) Artificial intelligence will do the human tasks.

(d) Monopoly of digital technology has led to unequal ownership of information.
(

e) Intellectual property rights should be protected in an open world.

Options:

(a), (b) and (c)

91334592457,

(b), (c) and (d)

91334592458,

(c), (d) and (e)

21594292459,

(d), (e) and (a)

913345392460,

Question Id : 91394323539 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label - Comprehension



Frivfew preiean 1 FEHHES T8 SR 79 11 915 T % I © prepp

uuuuuuuuuuuuuuuuuuuuuu

3 o fefeea 0 H, S g=1 &1 Wl € F20 vfaw &1 @ e | 39 fefSea g # 36 g9 i
Fraa & == FiEK! =99 3 ¢ | UF Tad G491 H [ F=71 61 930 7 © - 91 98 F9% (a0 qad 9
Y Y=Y Tl © 1 U Hgd GHR H Yo W FEh 1 3 ®Y Y WNige AR FEFI0 A €1 A 7Y TH
Hgq gfrn d fram #3a 1 39 g § o9 i wifs o1 oraeme w9 F 3R gad FEFm S W R | UF
S SRl TErER 1 AfGe THITYHR gN gdredied R faghd a1 S §; S\l savas® qar 9t o7
F1 92 | &; el TaAal F Tel-T1EH, SewRo 3R W0 o HR Al H 92 6l §; 3R A9 gr R T
W o, 3@ T W FTH FI J AT W E 1 9F [, TF g g H g Ha & =, oy
Hifega! AR MY Y oI GHER 99 &) e 3R foahdrd, AiRaat &R e § & & 9iiq iR fafecd
A, & FAW, IYA SR GaLH 1 e J enifad 86| U o g H§ g Farene iR gsiehi &
HfgH HYS THIHFHR i o1 AR FMferd qIidryes SAHER & SER W A6l 9 SA5el 3fed JiaH
Tl | fefee qanitenl H GUR & |1 31 J HR H0 8§ @ GareTd &1 999 93 i a6 794 gl fau
T 9Tl ST 9 S7eT 1 91 W E | SR ST 9 9 S 8, AW U= A o i fau FR e @
21 TRl & afcsk §94 ¢ foh 9% faftes siay TR 3 3R v fafehea 1 &M off & &1 | Yehed:, Afe
Y AR Sl & Sifed Fal 1 SIS FIE H F o U O 299 gH FTH HES 8 | ereitn gud
G Ie ¢ o ez Yor-Qiweaay, sAiwgl we-fafy & uR W =fed a1 € oI fheeie 39 YR i
o1 1 WA 3THAE 2 | 3R Gk 98 TR Ggq difgeh HUa SAHER 7 g1 Sied €

Sub questions

Question Number : 11 Question Id : 91394323540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Uk Had a1 i w1 w0 2

Options:

Hifad fasedi & 919

21594292441,

g1 Tkl ST Brfl

91334592442,

=1 fafere Al & are g

H1334592443.

EeRAERIECEI

91334592444,

Question Number : 12 Question Id : 91394323541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(@), (b), () 3 (d)

91334592445,

(b), (), (d) 3R (e)

21594292446,

(), (d), (e) ST ()

91334592447,

(d), (e), (f) 3R (a)

913345924458,

Question Number : 13 Question Id : 91394323542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
U Yo gHA1 § SlifGeh HUal AERI i 7 fefd ©72

Options:

d THITHRRIS AfIHR 21 §

913345524435,

Fafercia 9 ae Hifad Ugd 2l ©

913345392450,

uifarfes ARl grn gfqeertud

91334592451,

OIferd e 3YaFR

91334592452,

Question Number : 14 Question Id : 91394323543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
91394392453, THTCHRl SUferd Bl €
41394392454, h Gl ﬁ% gl 2

Sifec Sl H gl el ¢
91394392455,

9= AFeTT HTd GUifed e € |
91394292456,

Question Number : 15 Question Id : 91394323544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

UR=e o 9R § = Fee oid €

(a) Tefdea qa Ga 2|

b) S Y % Tl €, @t ufasy & @ &

d) TefSea ai® & THIIIHR H =1 T STHAM @NHe 39+ gl ¢ |
e) T Had HOR H dlfgeh W9l SHRI o1 T 21 =Mel |

(a), (b) 3R ()

B123345392457.
913345392458,
913345392459,

913345392460,

Sub-Section Number: 3
Sub-Section Id: 9139431254
Question Shuffling Allowed : Yes
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Question Number : 16 Question Id : 91394323545 Question Type: MCQ Option Shuffling : Yes Display Question Numbeér ™ Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In VEI'IJE][ C[)I‘I‘I.I.Tlll.['li[?fll’i[.‘lﬂ, ‘L*\.-'[}I'd:‘:l act as :
Options:

91394392461 L llers

a1394390450 LDECOTatives

Svmbols
91394392463, -

Passive barriers
91394392464,

Question Number : 16 Question Id : 91394323545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Hifgess Guor § e f=ifehd § | fohgen 1@ T € 2

Options:

T T

91334592461

HAARTIH

2153394232462,

Hahdsh

913345392463,

GBI REEUEED
Q1294292404

Question Number : 17 Question Id : 91394323546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Modern educational communication is described as :

Options:
Teleoloeic

91394392465, O

Non-distributive
91394392466,

Un-approximate
91394392467
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Question Number : 17 Question Id : 91394323546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

s Sifersh S99 1 fh9 &9 § aftiq foman <mar 2

Options:
=
Hf-ll*ﬂ'ﬂi("'lch
91394392465,
91394392466, TR-famEoe

g Egep

B91334532467.

mr
2153342324685,

Question Number : 18 Question Id : 91394323547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Effective classroom communication would help students internalise :

(a) Knowledge (b) Subject matter

(c) Articulation (d) Language felicity

(e)  Non-responsiveness (f)  Modalities of resistance
Code :

Options:

(a), (b), (c) and (d)

91334532469,

(b), (¢), (d) and (e)

913345392470,

91394392471 (©), (d), (e) and (f)

(a), (d), (e) and (f)

913345392472,

Question Number : 18 Question Id : 91394323547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a), (b), (c) 3R (d)

913345392469,

0), (d) 3R (e)

91394392470 (b)’ (

91394390471, () (), (€) S (f)
(@), (d), (e) ST (f)

2915394232472,

Question Number : 19 Question Id : 91394323548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The challenging behaviours of students as related to communication are :

(a) purposive challenges (b) critical challenges

(c)  procedural challenges (d) evaluation challenges
(e) practicality challenges (f)  power challenges
Code :

Options:

91394392473, (a); (b); (c) and (d)

91394392474, (9); {c); (d)ancs (i)

91394392475, (), (d), (e) and (f)

(d), (e), (f) and (a)

B13345392476.

Question Number : 19 Question Id : 91394323548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(a), (b), (c) 3R (d)

215942924735,

(b), (c), (d) 3R (f)

91334592474,

91394392475 (©), (d), (e) #R ()
@, @), () 3

913345392476,

Question Number : 20 Question Id : 91394323549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Classroom communication has a basis in :
Options:

Audience fraegmentation
91394392477, = %

91394392478, Non-informative cues

1on diversio
31394392479, Attention diversion

91394392480, Intensive listener focus

Question Number : 20 Question Id : 91394323549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
eI FIOT T SAER T

Options:

g fagta

91334532477,
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91394392475,
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91394332479 gl e S

15394392450, A1G1 Pl ITET Hh QU]

Question Number : 21 Question Id : 91394323550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If FACE is coded as HCEG, then the code for HIGH will be :

Options:

21594292451, BEFB

B13345392482. ZXYZ

913345392453, KHIK

| K1]J
91394392484, -

Question Number : 21 Question Id : 91394323550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ife FACE &1 HCEG & &9 § Feasg foa Sra1 2, d HIGH & fog 2 30 2 ?

Options:

21594292451, BLI'B

B12334592482. LXYL

KHIK
91394392483

| K1]J
91394392484, °

Question Number : 22 Question Id : 91394323551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The next number in the series 12, 15, 21, 33, 57 15

S SR S e

Options:
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91394392485

107

91334592456,

9
91394392487

213345392488, 105

Question Number : 22 Question Id : 91394323551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
12, 15, 21, 33, 57 =l S@c § S 3k 21T :
Options:

91334592455,

107
91394392486,

97
91394392487

105
91394392488

Question Number : 23 Question Id : 91394323552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The next term in the letter series DY, | X, OW, SV, VU, __18:

Options:
L7
91394292489, WV

91334592430, X1

91334592451, XS

9133453924392, Yl

Question Number : 23 Question Id : 91394323552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

0 @1 DY, JX, OW, SV, VU H STTel U8 8 -
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™7
2915334232489, Wy

2913345392430, Xl
913345924391, XS
91334592452,

Question Number : 24 Question Id : 91394323553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of these words is different from the rest ?

Options:

91394392493, [all

Huge
91394392494,

291594292495, lhin

Sharp
91394392496,

Question Number : 24 Question Id : 91394323553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
feu v wi=gi | fawq 9= ¥ -
Options:

+

SEll
913943924935,

IEEIS|

913345924594,

291594292495,

REA!

21594292496,

Question Number : 25 Question Id : 91394323554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Ramwsuidrepplinam, “That girl playing with the doll, is the younger of the two SR@REs of
my father’s wife”. T
How is the girl playing with the doll is related to Ram ?

Options:
913945392497, Sister

91394392498, Aunty

Sister-in-law
91394392499,

215394292500, Cousin

Question Number : 25 Question Id : 91394323554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T v e, A e S fed § W T g, W a5t i G e
TFedl o WY Tor aTel dgh! T § Y Hefed g7

Options:

EEal

9133453924397,

el

913345392438,

aqrefi

2915334232499,

EELER

91334592500,

Question Number : 26 Question Id : 91394323555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which of the following instances, deductive argument is invalid ?
Options:
o1304390501 Y REN its premises and conclusion are all false.

) 1 I..‘ - .I.1 I.‘ % } % I.‘. 1 C C -
150439050, YV DEN its premises and conclusion are all true

When its premises are true but conclusion is false.
91394392503,



WWW.PrepPAMhen its premises are false and conclusion is true. rrepp
91394392504,

Question Number : 26 Question Id : 91394323555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
freafefad § 9 forg 3eee o frmoemens qa /a9y 772

Options:

9 3HE MR F 3R Frepd gt 1o €

913345392501,

9 3HF MR 919 3R fsrd |t we 21

913345392502,

S| 9 YR 91 9l § 9 ekt w7erd 2|

2153942925035,

9 THh SUR FE Tad & Uig Ry HeEl €

913345392504,

Question Number : 27 Question Id : 91394323556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The reasoning which would be helpful in seeking new knowledge of facts about the world
IS :

Options:

Demonstrative
91394392505,

Deductive
91394392508,

Inductive
91394392507,

Speculative
91394392508,

Question Number : 27 Question Id : 91394323556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

-

fava & H&y § 9 1 99 IF 9" 9 ¥ FEfafEg § 9 -9 96 9e8EE 2N 2

Options:

913345392505,
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HAMTHATHS
91394392507

21594292508, 1

Question Number : 28 Question Id : 91394323557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two premises with four conclusions drawn from them (taking singly or
together). Which of the following conclusions could be validly drawn from the premises ?
Premises : (i)  All cats are animals.
(i)  Birds are not cats.
Conclusions :  (a) Birds are not animals.
(b)  Cats are not Birds.
(c) All animals are cats.
(d) Some animals are cats.
Select the correct answer from the code given below :
Code :
Options:

(a), (b) and (d)

91334592509,

(b) and (d)

2915334232510,

(a) and ()

913345392511,

(b), (¢) and (d)

91334539251 %.

Question Number : 28 Question Id : 91394323557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



THEVAVIRERPRIERT & fehrer T Freerdll (Ueher o1 wehETy ) Tfed 9 &1 enuR feg T E F—Fﬁ&@aﬁ
Y A g fTerd suR 9 9 99 €9 9 e e g ?

mam A (i) | fafeeal SR €

(i) vef fafeeal & 2|
feeret - (a) qeft STHeR 81 8 |
(b) fafeeri el =& € |
(c) T SR fafeeal € |
(d) F IR fafeeat 1
<he :
Options:
41394392509, (a), (b) Sl (d)
41394392510, (b) EFﬁT(d)
91394392511 () S (€)
(b), () 3R (d)
91394392512

Question Number : 29 Question Id : 91394323558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Inductive argument proceeds from :
Options:

Particulars to Particulars
91394392513,

£ TR C S N 3 g
AO— Particulars to Universals

2 - " 3 = .
L. L :" L
1594390515 Universals to Particulars

Universals to Universals
91394392516,

Question Number : 29 Question Id : 91394323558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ATTHATHF Tk 1 AR SE 21 € ¢
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21594292515,

99 9 =19

91334592514,

291594292515, IRE @- | lll

913345392516, SEiaen ﬁ A

Question Number : 30 Question Id : 91394323559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Among the following statements, two are contradictory to each other.

Statements :

(a) All men are humans.

(b) Some men are humans.

() Some men are not humans.
(d) No men are humans.

Select the code that represents them :
Code :

Options:

(a) and (b)

913345392517,

and (d)

H13345392518. (I:'l)

(a) and (c)

913345392519,

(b) and (c)

91334592520,

Question Number : 30 Question Id : 91394323559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) EYl Y&Y T € |

(b) FS TEY TS € |

(©) TS Y& HHd Tl ¢ |

(d) TS &Y HHd Tl ¢ |

39 T2 1 =TI HL S SR Hidrreed HLdl §

che

Options:

(a) 3R (b)

91334532517,

(a) 3R (d)

B13345392518.

(a) 3R (c)

913345392519,

(b) 3R (c)

2153394232520,

Sub-Section Number: 4
Sub-Section 1d: 9139431255
Question Shuffling Allowed : Yes

Question Id : 91394323560 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehension



""‘Qﬁ’n"h‘;’é?l’ P Total Number of | Number of | Maximuny rrepmp
number of students students | Full marks
students |who passed| who failed in the
appeared subject
English 600 - 36 600
Mathematics - 240 60 -
Science 300 216 - 400
Social Studies 360 - 48 400
Computer - 168 32 400

Study the table given above carefully. It shows the number of students appeared, passed
and failed in five subjects. The full marks in each subject is also given.

Some of the cells have missing data. You might need to determine some of the missing data
to answer the questions below.

Sub questions

Question Number : 31 Question Id : 91394323561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following could be the full marks in Mathematics if the pass marks in Mathematics
was 35% and the person who just passed scored 70 ?

Options:

400

21594292521,

500

B1334592522.

600

91334592523,

91334592524, 200

Question Number : 32 Question Id : 91394323562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What is the maximum marks that a student can score in all the five subjects together ?
(You may use the answer of the previous question.)

Options:

91394292525, 200

91394292526, 1000
1500

91334592527,
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91394392528

Question Number : 33 Question Id : 91394323563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the difference between the number of failed students in Science and the number of
passed in Social Studies ?

Options:

I3

23
91394392529

~J
4%
oo

913345392530,

r-.l.]
f—
I~J

913345392521,

-
91394392532, © 18

Question Number : 34 Question Id : 91394323564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What is the approximate difference in percentage between the pass % in Social Studies and
the pass % in Mathematics ?

Options:

2.5%
91394392533,

6.5%
91394392534,

16.5%
91394392535,

26.5%
91394392536, 26.2%

Question Number : 35 Question Id : 91394323565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which subject, was the failure percent the least ?

Options:

English
91394392537,

Mathematics

B12334592538.
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1394392539, s

Social Studies
91394392540,

Question Id : 91394323560 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Juestion Label - Comprehension

fawa | ol SETel | 30T dFdTel | Al oEl | faua o
el HeEAT A
AU 600 : 36 600
T ) 240 60 ]
o= 300 216 ] 400
TS AT 360 = 48 400
e - 168 32 400

ST dIfciehl o1 SAMYES Ui | THE 9r9 faudi i uie Same, S8 S 3R ST arare
oot =61 g9t T 8| U fawa & e ofw off fou u E)

FS HISH! H S Tal ¢ | A fSU T qwi F W T F HH A SAIHT ST AFS| H1 ATHR
FHEAT IS Hhal ¢

Sub questions

Question Number : 31 Question Id : 91394323561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Ife T 1 SIS 35% o1 AR UH SATH =l i M0d § haed S0 U Wradish 70 o1 o1 0 1
qUTich ST 917

Options:

91394292521, 400

=
913345392522, 200

600

2153394232525,

B13345392524. 200



Quew'ww;ggpoe%@uestion Id : 91394323562 Question Type: MCQ Option Shuffling: Yes Display Question'rreppec
uestl

SingleLine ption : No Option Orientation : Vertical Your Personal Exams Guide
Correct Marks: 2 WrongMarks: 0

qoff g fawdi § faeneff sifeeran fohaq 37 Wi o Hehd €7 (379 U=l W99 o 39 &1 390 &
T 1)
Options:

2153394232525, 200

91334592526, 1000

1500
91394392527

913345392528, 2000

Question Number : 33 Question Id : 91394323563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

faam H A0l SR U e1s9g | S0l erarel faanfedi § feran siax €2

Options:

I~J

28

21594292529,

[~
%
oo

913345392530,

e
[
I~J

-

H13845392521.

-
91394392532 & 18

Question Number : 34 Question Id : 91394323564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

THTS 37T SR g § Sirofar gfdera ®§ oy fopda ufderd =1 st 22

Options:
7 59
91394392533 2.5%
5%
91394392534, ;
ey [_E"Iri_}

9153394232555,
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Question Number : 35 Question Id : 91394323565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

for fearoar o ereiol @ o1 wfae Jad &9 o1 ?

Options:

EPE]

B13345392537.

o7

2153394232558,

IEEIR|

91334592539,

O A9
291394292540, S

Sub-Section Number: 5
Sub-Section Id: 9139431256
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 91394323566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Full form of PDF is:
Options:
) 5 - t
- 3 i :
01294395541 Portable Document Format

.j - - - h -
s S T o
a1504390z4, L OTtable Data Format

Portable Document Form
91394392543,

Portable Data Form
91394392544,

Question Number : 36 Question Id : 91394323566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

ST 1 YU &Y T :

Options:



: M r
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21594292541,

e W, = St
dlcsiel scl hiHC

913943932542

o . i ' S

greslel SiegHe Hid
215394232545,

' - =
913943932544, AT S

Question Number : 37 Question Id : 91394323567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A Terabyte is equal to :

Options:

] '? / Ye T .
o1504592545, V24 Megabytes

a150az90sa 1024 Gigabytes

01394390547 1024 X 1024 Kilobytes

1024 Kilobytes
91394392548, -

Question Number : 37 Question Id : 91394323567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

U ZERe oo e’ § 2
Options:
1024 HTETEZH
1024 TIETEEH

91334592545

913345392546

1024 x 1024 foweArszed
215394232547,

1024 feraramzey

2913394232548

Question Number : 38 Question Id : 91394323568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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The binary equivalent of (—23)10 is (2's complement system for negative numbers is used) :

Options:
91594292549, 10111

91334592550, 01001

913345392551, 01010

- 01000

2153394232552

Question Number : 38 Question Id : 91394323568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

(—23),0 1 T8 FHIA (ST faaaeie) T (2's Ffie Womell =1 Yan koA emst & fau

ERIRICIEE
Options:

10111
91394292549,

01001
91394392550,

01010
91394392551

01000
91394392552

Question Number : 39 Question Id : 91394323569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

DNS stands for :

Options:
01394390553 Domain Name Standard

)] al C 2, g
91394399554 Domain Name System

Distributed Name Svstem
91394392555, :

01594395558 Dynamic Name Standard
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Question Number : 39 Question Id : 91394323569 Question Type: MCQ Option Shuffling : Yes Display Question Numbér ' Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

LA T, & 39 T
Options:

- = P
91394392553, 21 Iq Tee

< 3w e

215394232554

91394392555, f@gja@—g a1 fawen
TR W EeE

913345392556

Question Number : 40 Question Id : 91394323570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the given statements are true ?

(a) Modem is a Networking device.

(b) Modem is a Voltage stabilizer.

(c) Modem converts analogue signal to digital signal and vice-versa.
Code :

Options:

(a) and (b)

2915334232557,

(b) and ()

B1334592558.

(a) and (c)

91334592559,

(a), (b) and (c)

2153394232560,

Question Number : 40 Question Id : 91394323570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(b) TISH TF deed LfaaEsn ¢
(c) HISH TN Hohd 1 fefSed Haa § iR fefSea H&d &l T dohd d g ¢ |

Options:

H13345392557.
91334592558,

B12334592559.

B913345392560,

Question Number : 41 Question Id : 91394323571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following industries, consumes maximum water in India ?
Options:
s1304392561, L 1SINECIINgG

91334592562, lextiles

Thermal power plants
91394392563,

Paper and pulp

91334592564,

Question Number : 41 Question Id : 91394323571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

g § faefafaa § 9 fovg 8m § 9o &1 3ifaesdy |@ud 2l €2

Options:

EEUERIE

91334592561,
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2153394232562, onal Exams Guia

SILAEEGRSRE
91394392563,

FITS 3R g

B1334592564.

Question Number : 42 Question Id : 91394323572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Plants suitable for biomonitoring of Sulphur Dioxide pollution are :
Options:

White pine, moss and lichens
91394392565,

91394395566, l'omato and lettuce

T — [obacco, grapes and garden bean

Apricot, peach and gladiolus
91394392568,

Question Number : 42 Question Id : 91394323572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TeH SRAFAEE YUV &hi iRl o fofe 3ugad 1y € -

Options:

| vod GagR, &1 3R IaTF

913345392565

= ~
91394392566, IOV 3R THeR Hesl

T, SR SR &1 W
Tfepie (3TERe), 31g 3R Tafesled

913345392567,

91334592568,

Question Number : 43 Question Id : 91394323573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
An earthquake is rated as ‘major’ if its magnitude in Richter Scale is in the range of :

Options:
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91394392569, R - 4.9

24) - 5.9
91394392570,
s1394390571. OV~ 6.9
a1394392572. /-0 =79

Question Number : 43 Question Id : 91394323573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
JehY 1 ‘TSl Yo EH HI HNl o Sl & Afe FEet UHH W 3HeE qyE e a3 1 2 ©

Options:

40949

2153394232569,

913345392570, 5.0 ﬁ 5.9

6.0 9 6.9
Q129429257 1.

70" 7.9
Q129429257 2.

Question Number : 44 Question Id : 91394323574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The biggest hindrance in using biomass as a major energy source is :
Options:
o1594390575 | echnology not well developed for commercialisation.

Energy yield of low level.
91394392574, S

Laree amount of land required to erow energy crops.
491394392575, o o /

ir po 10 y combushton.
R Air Et.ﬂutu n due to combustion

Question Number : 44 Question Id : 91394323574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

oo & Tow S gfastad & €1

2153942925735,

= TR 1 el e 2l

91334592574,

Fel-TEd I o fou agd Ao g 1 Aeavdehdl 9edl ¢ |
91594392575 :

g2 o RO a1g IgHYT BIaT € |

B1394539257E.

Question Number : 45 Question Id : 91394323575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Assertion (A) : Climate change is going to increase social tension in India.

Reason (R) : The frequency and intensity of the extreme weather events will have serious
consequences for food security.
Code :
Options:
) correc ) 10N O :
o150439057, DO (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true and (R) is not the correct explanation of (A).
91394392578,
Sisaisesnss (A) is true, bugiR) is false.
(A) is false, but (R) is true.
91394392580,

Question Number : 45 Question Id : 91394323575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

AfUmeH (A) :  STAarg IRadT YRd H HrHTfseh q1e S |
N (R) : e &1 =19 ferfa 1 g SR diedn 1 @ g 92 18R g9 92|
e

Options:

(A) 3R (R) SF1 T&l € 3R (R), (A) I Tal =0 2 |

213394232577,

(A) 3T (R) M1 T&l € 31T (R), (A) T T&l =0 e € |

B13345392578.
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B1334592579.

(A) Tod 2, T (R) 91 71

913945392580,

Question Number : 46 Question Id : 91394323576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The first Open University established in India is :
Options:
AT Yashwantrao Chavan Maharashtra Open University, Nasik

- -~ & - 11 ]" ;
B L O =
139439055, Nalanda Open University, Patna

o1394390cgs. Dhim Rao Ambedkar Open University, Hyderabad

Tamil Nadu Open University, Chennai
91394392584, :

Question Number : 46 Question Id : 91394323576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
IR H T Yeen Yo favafaead @

Options:

9153394232581,

el g favafaame™, e

215394292582,

i T feeat gad favafaaned, geuEn
91:94392585.

Gl GEIER ESRCECIERIGE!
Q1294292584 ’ %[f:’[

Question Number : 47 Question Id : 91394323577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In 1948, under whose Chairmanship a University Education Commission was set up to
reconstruct University Education in India ?

Options:
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91394392%85'_3%%:"({&1: Vallabh Bhai Patel

2 s Wi .
o1394392536, 1 TOL P.C. Joshi

Dr. S. Radhakrishnan
913943925837,

Dr. Vikram Sarabhai
91394392538,

Question Number : 47 Question Id : 91394323577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

a9 1948 H 9Rd H favafaarera foen &t qrdeaan & fou fegest stsea § v favafaamerg faen

SATIRT ST 4T 91 ?

Options:
TG gy 9E 9dd

2153394232585,

1. 9. e

H1334592586.

2l. TH. THHTH

B13345392587.

21, fasha gruE

B12334592588.

Question Number : 48 Question Id : 91394323578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

University and University-level institutions are categorised into :

(a) Central Universities

(c)  Private Universities

(e) Institutions of Higher Learning
Code :

Options:

o1394390559. (@) (€), () and (f)
912943292590 (b)r (d)r (E) and (f)

(a), (b), (c) and (d)

91334592591,

(b) State Universities
(d) Deemed-to-be Universities

(f)  Civil Sector Institutions
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Question Number : 48 Question Id : 91394323578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

favafaeme 3R favafaenea R & SxaFi & f=ifed § 9 fog goft 8 v S g2

(a) <herd favafaemem (b) T Tavafazme™
(c) TSIl Tavafe=me (d) Wi faefeeme
(e) T forem deom () Tofae e g

o< :

Options:

(a), (€), (e) R (f)

913345392589,

(b), (d), (e) S (f)

2123345925390,

(a), (b), (c) 3R (d)

H91384592591.

(c), (d), (e) 3R (f)

91334592592,

Question Number : 49 Question Id : 91394323579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“e-Pathshala” is an initiative by :
Options:

91334592553, UGC

91334592594, CBSE

NCERT

291533942325395.

9133453925396, NCIE

Question Number : 49 Question Id : 91394323579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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IS HL (UGC)

B1334592593.

1.9 tgs. (CBSE)

91334592594,

THLE. AR, (NCERT)
91394392595,

TELEE. (NCTE)

H1334592596,

Question Number : 50 Question Id : 91394323580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The Council of Rural Institutes Authority is situated at :
Options:

01594392597 Ludhiana

Ahmedabad
91394392598,

;)
913345392599, Pune

Hyvderabad
91394392600,  °

Question Number : 50 Question Id : 91394323580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
THTOT T WIeRTo] 9iioe el feerd 82

Options:

B1334592597. I

913345392598,

91334592599, E

91334532600,
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Group Maximum Duration : 120
Group Minimum Duration : 120
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Question Number : 51 Question Id : 91394323581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following has made the division of social case work into Direct and Indirect ?

Options:

91394392601, O
91394392602, " ham Reid
91394392603, ordon Hamilton
91394392604, ‘innetie Garrett

Question Number : 51 Question Id : 91394323581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fr=fefiaa & @ fraa Safes gums =6 =1 voge va sveae o favrem feman 2
Options:

gifew|

2915334232601,
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Tigq gfireed

215942926035,

B13345392604.

Question Number : 52 Question Id : 91394323582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Self-based evaluation on reflection or social comparison’ is

Options:

Self-help
91394392605.
91394392606, el confidence
91394392607, el -esteem
91394390605, SCl-awareness

Question Number : 52 Question Id : 91394323582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“sferard= areran T g § T ImaTiE qedi 8
Options:
HTeH-Hg AT
91594392605,

91394392606, IR

91394392607, B

91334532608,

Question Number : 53 Question Id : 91394323583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Role recording is the refined version of

Options:
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Narrative recording
91334332610,

Process recording
9123345392611,

91394390610, ipstract

Question Number : 53 Question Id : 91394323583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
ftr Aforer geesa Gen 8
Options:

91334532609, R i

913345392610, i

91334592611, o

91334592612,

Question Number : 54 Question Id : 91394323584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who among the following is related to ‘culture of poverty” ?
Options:

91394392613, elver

91394392614, SCTOKIR

91394392615, W

Cooley
91394392616,

Question Number : 54 Question Id : 91394323584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

LEE IECT

913345392613,
B12334592614.

H13345392615.

T

913345392616,

Question Number : 55 Question Id : 91394323585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who said that ‘dreams are the guardians of sleep’ ?

Options:

91394392617, T reud

Jung
H13345392615.

91394392619, dler

91394392620, Sanet

Question Number : 55 Question Id : 91394323585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
forea a1 f e Fag & atfiyes § 0

Options:

H13345392617.
913345392618,
B13345926149.

21594292620,



QueWw\Ngggpoﬁ%@uestion Id : 91394323586 Question Type: MCQ Option Shuffling: Yes Display Question'l‘reppec
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Correct Marks: 2 WrongMarks: 0

Perfect negative correlation is always

Options:

-1
91394392621

0
91394392622,

+1
91394392623,
91394392624, ~1t0

Question Number : 56 Question Id : 91394323586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Faffra FeTens Gedey T B 2

Options:
91394392621, -1

0
91394392622,

+1
91394392623,
91394392624, -170

Question Number : 57 Question Id : 91394323587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following Articles of the Indian Constitution deals with ‘equality of
opportunity in matters of public employment’ ?
Options:

91394390625, rude 14

- [~
91394392626, *rucle 15

91394390607, ‘rtcle 16

91394390625, ‘ruce 18
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Question Number : 57 Question Id : 91394323587 Question Type: MCQ Option Shuffling : Yes Display Question Numbeér ™ Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

it ofaam % fefafas sa=ad 4 @ F-m & Frem % ame § s 6 gamar @ dafea
2?

Options:

FI=og 14

215394232625

Fg=eg 15

B1334592626

FHI=0q 16

13345392627

Fg=eg 18

B1334592628

Question Number : 58 Question Id : 91394323588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who said that the “wealth increases in the same proportion as poverty™ ?
Options:

91394390609, —ari Marx

Friedrich Engels
91394392630,

91394392631, ax Weber

Hegel
91394392632,

Question Number : 58 Question Id : 91394323588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
foraat e fop “Ioft, et o @ saa dagdt ¥ 2

Options:

B13345392629. i

efien T

H913345392630.

21594292651, few I
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Question Number : 59 Question Id : 91394323589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The concept of ‘vicious circle of poverty’ is associated with

Options:

Kindleberger
91324592633,

Schumpeter
91294392624,

Ragnar Frisch
913343392635,

Gunnar Myrdal
91334332636,

Question Number : 59 Question Id : 91394323589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“riveft % gresh i dhea fed Hafta 8 2
Options:
91394302633 o0 T
91394392634, °
91394392635, T PO
firdw
91394392636, T

Question Number : 60 Question Id : 91394323590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Apna Khet, Apna Kaam’ (i.e. own field, own work) is a new scheme under MNREGA and it
was first initiated in the State of

Options:
Punjab
91594392637

Gujarat
21394292638,
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Madhya Pradesh
91334332640,

Question Number : 60 Question Id : 91394323590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“IIAT W, 9T FHH HAOT % dad U 75 Grar & 3 98 et an fem g | sy g ot 2

Options:

H13345392637.

2153942326355,

H13345392639.

ey
912345392640, s

Question Number : 61 Question Id : 91394323591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Judicial separation for a conflicting Indian couple is granted for a maximum period of

Options:

7 years
21594232641,

3 years
91394392642,

2 years
913943932643,

b years
215394232644

Question Number : 61 Question Id : 91394323591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
qregt-fatiet vt e & fo =nfies g ft sfisan srafy wiga 2

Options:

91334592641, 7
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91334592643, 2

=

91334592644,

Question Number : 62 Question Id : 91394323592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Borstal Schools are meant for the reformation of

Options:
Juvenile delinquents
215394332645,
91394392646, Women offenders
Convicts
21594232647,
91394390645 W hite Collar Criminals

Question Number : 62 Question Id : 91394323592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

st The e gun % g da 8 0
Options:
91394292645, e ®
9139423932646, q‘%?l‘l *
91394332647, et &
9139439326483, *

Question Number : 63 Question Id : 91394323593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who has given the formula for ecalculating rank correlation ?

Options:
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91394392650, 1 Carson

91394390651, LS

91394392652, Carrett

Question Number : 63 Question Id : 91394323593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
#oft wegay 6t Mo % fere g3 R T 2

Options:

913345392649,

913345392650,
91334592651,
B1334592652.

Question Number : 64 Question Id : 91394323594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The term ‘reference group’ was first conceptualized by
Options:

Hyman
91334332653,

91394392654, lerten

91394390655, TN Srinivas

C.H. Cooley
91394292656,

Question Number : 64 Question Id : 91394323594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“eief g’ wg ft veelt A fres gro Hehewn it 7 2
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913345392653,

91334592654, R

7. sfifama
91394392655, e

CIRCAE T

H1334592656.

Question Number : 65 Question Id : 91394323595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who has given the functional theory’ of Social Stratification ?

Options:

91394392657, T.B. Bottomore

91394392655, - Davis

91394392659, " Moore

91394392660, —ari Marx

Question Number : 65 Question Id : 91394323595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
araTfoe Tl s wehrters g fRaa foam o 2

Options:

913345392657, a.a.

91334592658, %

T 3.
91394392659, ®

2153394232660, e

Question Number : 66 Question Id : 91394323596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

Central tendency
91394392661,

Dispersion
91394392662,
91394390663, | odation
91394392664, Correlation

Question Number : 66 Question Id : 91394323596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

E A9
Options:
w4 wafa
91394397661
9139439TEE2 FRTT
91394392663, #
Heday 1
91394397664,

Question Number : 67 Question Id : 91394323597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following factors is the least relevant explanation for the declining
sex-ratio in India ?

Options:

Migration of males to urban areas
91394392665,

91594392666, Female foeticide

Lower nutritional status of girl children
91394392667,

High maternal mortality
91394392668,
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Correct Marks: 2 WrongMarks: 0

Frfafiga & & S7-a e wia § w-gey & find e sgara & fou g s6n s samen 2 2
Options:

qeul 1 Wl & i yEE
91294392665,

HTET YoTeeT
21594292666,

wsfrat $r grwor gt feaf = e =
91394392667

I= ol
H1334592665. B

Question Number : 68 Question Id : 91394323598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Who iz of the view that ‘social unrest is rooted in the capitalist path of development’ ?

Options:

91394392669, ‘+R- Desal

G.S. Ghurye
91394332670,

D.P. Mukerji
913942392671,

Surajit Sinha
21594232672,

Question Number : 68 Question Id : 91394323598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fererant war & o6 “ammfors armnifa faerrar 3 Soframdt v w smanfia 8 2
Options:

U, HA, <HTE

91334592669,

it.uw, g

215394292670,

&, el

91334592671,
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Question Number : 69 Question Id : 91394323599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What is true of psychological ‘drives’ ?
(i)  Internal states
(ii) Aroused by tension
(iii) Underlying need

(iv) Guided by external stimuli
Choose the correct answer from the code given below :

Code :

Options:

Only (i), (ii) and (iv)
Q1294392673

Only (i), (ii) and (iii)
Q139429267 4.

Only (ii), (iii) and (iv)
15394392675,

(1), (ii), (iii) and (iv)
Q1594392676

Question Number : 69 Question Id : 91394323599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TSR I S A H w wE g 7
(i) st feafa
(i)  @9TE R W vatfad

(ili)  SATITHHAT T o 21 &

(iv) =gt 3ghea gro anf fefia
13 foe T e # @ A SR 9P
e

Options:

Fae (1), (i) 3 (iv)
91394392673,

Fae (1), (i) 3 (i)
Q1394292674
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91394392675,

(1), (i), (iii) 3 (iv)
91394392676,

Question Number : 70 Question Id : 91394323600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In an exclusive series
Options:

91394390677, The lower limit is excluded

The upper limit is excluded
91394392678,

91394332679, Both the limits are excluded

91394390650, Doth class limits are considered

Question Number : 70 Question Id : 91394323600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
srad St |

Options:

e ot srgafefq &
91394392677

= diar srqafsq @
91394392678,

2 dard stgafsa
91394392679, ¢

B123345392680. Al il R o foan e &

Question Number : 71 Question Id : 91394323601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
‘Showing the manner in which items are clustered around average’ is
Options:

Descriptive Statistics
91334332651,
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91394392653, rewness

91394392634, Lourtosis

Question Number : 71 Question Id : 91394323601 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘sftaa % smauTa aeqa W w0 H Rl wEerd 2
Options:

H13345392681.

s aiferd

91334592682

B1334592683.

el WA (Feifow)

913345392654,

Question Number : 72 Question Id : 91394323602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following statements is correct about lay-off ?
Options:

Lay-off iz a tempor discharge of workmen.
Q12942926885 Y porary e

Lay-off is an abolition of contract of services.
91394292686,

Lay-off iz a tempor suspension of service contract.
Q1394392687 Y porary pe

Lay-off is the termination of employee.
21594232685,

Question Number : 72 Question Id : 91394323602 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
salt gEt (S-311%) % an d Fraferfigs 4 @ shm s ad 2 2

Options:
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91394392686,
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91394392687,
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91394392688

Question Number : 73 Question Id : 91394323603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is nef a principle of social action ?

Options:

The principle of eredibility buildin
91394292653, ¢ prnapie o v bu g

The principle of dramatisation
91394332630,

The principle of dual approach
Q1394392691 P P PP

The principle of continuous individualisation
21594232692,

Question Number : 73 Question Id : 91394323603 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frfefiga & & si-an arnfas fFn =1 fagin 78 2 2

Options:

Fervaataar Fatu = fage
91394392689,

areshie =1 fagm
91394392690,

et 39w = fagia

B12334592691.

Had =afees = fagi
91394392692,

Question Number : 74 Question Id : 91394323604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

91394390593,  1he Constitution of ILO

91394392694, The United Nations Charter

The European Social Charter
91334332635,

91594392696, The 1924 Constitution of the erstwhile Soviet Union

Question Number : 74 Question Id : 91394323604 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘el -+t saTed i g Se i wufg i mau ¥ 58 wYE 1 IgE @

Options:

91394392693, IR, i

J oY % = A
91394302694 T ¥

913345392635, e

91334592656, 1924% ™ A

Question Number : 75 Question Id : 91394323605 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
“Determination of degree to which programme objectives are being attained” is
Options:
Programme plannin
913943392697, P g

Programme effort
Q1 394392698,

Programme effectiveness
Q1394392699

Programme efficien
Q1=294=292700, &
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uestl
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Correct Marks: 2 WrongMarks: 0
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Options:

913345392657,

913345926598,

B12334592699.

FdHA
91394392700, R

Question Number : 76 Question Id : 91394323606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

‘Number in category divided by the total number of cazes’ is

Options:

Proportion
91334332701,

Percentage
913245392702,

Range
H13345392703.

91394390704, 1RO

Question Number : 76 Question Id : 91394323606 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“Soft 1 A i Fet w1 (F6) Few F o o s FEend 8

Options:
291394292701,
21394292702,

g (T9)

913345392703,
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Question Number : 77 Question Id : 91394323607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In social case work practice, the ability on the part of the case worker to perceive the
individual client as a unique person beyond comparison is the Principle of

Options:
Acceptance
21394292705,
91354399708, Individualization
Non-judgemental attitude
21394292707,
Confidentiality
91394292708,

Question Number : 77 Question Id : 91394323607 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

st TuTs w sAagn 4, safEdra dardl ® sqets sm-a =afe % w9 ° 2 6 %
FreqgTaRal i greal st Frerfefiaa # & feaw firga wa st & 2

Options:

91394392705, Wﬁ-"ﬁl‘
91394332706, SR
91334332707, Hﬁﬁﬁ
91324332708, L

Question Number : 78 Question Id : 91394323608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Urban oriented development programmes generated urban centered employment which
resulted into

Options:

Rural to rural migration
Q1394392709,
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Rural to urban migration
Q13943292711

Urban to urban migration
Q1394392712

Question Number : 78 Question Id : 91394323608 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wet-elt fersra el % werraEy wet Higa T 1 gee gen fawss s
Options:

Tia & i AR TaEA g
91394392709,

W ¥ i AR FEE g
91394392710

e # W AR FaE g
91394392711,

W&t & Wet 1 AR JTET gH
91394392712,

Question Number : 79 Question Id : 91394323609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to Rogers, anxiety and defensive behaviour result due to
Options:

Inadequate childhood training
2153942327135,

Incongruence between the organism and the self
91334232714,

Faulty learnin
913943292715, & &

Inadequate experiences
Q1394392716 ed pe

Question Number : 79 Question Id : 91394323609 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T % Agan gftaan oit weres =g frefafiaa 4 & ferass ftomm & 2 2

Options:
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2915334232715,

HagdT Ud w=E & He FEf
91394392714,

grqut arferms

913345392715,

Fgfed e
91394392716,

Question Number : 80 Question Id : 91394323610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“Jan Shikshan Sansthan (JSS)’ is a programme initiated by the

Options:

Ministry of Social Justice and Empowerment
Q1394392717 PO

Ministry of Information and Broadeastin
Q1=294=292718. <

Ministry of Human Resource Development
Gl13a4392719. Y

Ministry of Agriculture
Q13943292720

Question Number : 80 Question Id : 91394323610 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
S fareror g (Sum.um, ) v sl g AR |

Options:

913345392717, 3w

HaAT 3 SE W
91394392718,

91334532719,

Y AT

913345392720,

Question Number : 81 Question Id : 91394323611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A‘M!!(Waﬁléﬁﬂﬁﬂﬁ anger from his boss to his child, is an example of

Options:

913345392721,

91334592722,

B1334592723.

21594292724,

Projection

Reaction formation

Displacement

Regression

Your Pers: xams Guide
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Question Number : 81 Question Id : 91394323611 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Ueh s4fth W A9 |id grT R 1T iy W 39 T= W SR A & 91 98 35

Options:

913345392721,

B13345392722.

91334592723,

B13345392724.

T <l

aferfsran Fmfo =1

e =1

afera=

Question Number : 82 Question Id : 91394323612 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

According to Freudian understanding, thoughts or motives that a person is currently aware

of or is remembering is called as

Options:

B1334592725.

B13345392726.

B13345392727.

B13345392728.

Conscious

Memory

Sub-conscious

Fixation
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Correct Marks: 2 WrongMarks: 0
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Options:

913345392725,

s

H1334592726.
B13345392727.
B13345392728.

Question Number : 83 Question Id : 91394323613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
When the members of a group start to resolve the issues that are creating the conflict and
begin to develop their social agreements, then the group is in

Options:

Forming Stage
91394392729, g Stag

Norming Stage
21394292730, g Slag

Storming Stage
91394292731, g Stag

Performing Stage
Al1394392732. g Stag

Question Number : 83 Question Id : 91394323613 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e foreft T & Toea T8 gEl Wt gorsrn ey W R g e ewue 9 @ w8 ol 3m R T
arTfoe THEital I e & @ d, a7 g fee e A 2 2

Options:

B13345392729. Eﬁ'

913345392730,
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Question Number : 84 Question Id : 91394323614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of the following is nof a sub-model of social action given by Britto ?

Options:

Legislative action model
Al1394392733,

91394392734, Sanction model

Direct physical model
91394392735,

Social goal model
91394292736,

Question Number : 84 Question Id : 91394323614 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Freafafiaa & & s fwdt gro & 3 aonfas G &1 39-arew 78 2 2

Options:

B13345392733.

gl ey

215942927354,

9153394232755, A

913345392736, =

Question Number : 85 Question Id : 91394323615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
When was the first National AIDS Control Programme (NACP) launched ?

Options:

913345392737, 1992
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91354350758 1909

913345392739, 2007

B13345392740, 2012

Question Number : 85 Question Id : 91394323615 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
wye edta ugw Frmm sl (et ) fea o & g e mam a2

Options:

913345392737, 1992

2153342327358, 1999

B13345392739. 2007

913345392740, 2012

Question Number : 86 Question Id : 91394323616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Human trafficking is a form of
Options:

91394390741, Tate crime

Organized crime
215394232742,

913943907435, Violent crime

Pro crime
91394292744, perty

Question Number : 86 Question Id : 91394323616 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

aa aeRl frafafias 4 @ fram s wa 2 2

Options:
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913345392742,

feae s

2915334232743,

913345392744,

Question Number : 87 Question Id : 91394323617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The has submitted a report on ‘the execution of death sentence in India’.

Options:

91394392745, olice Commission

9139439074¢, LAW Commission

Human Rights Commission
91394332747,

Ministry of Home Affairs
Q1394392748

Question Number : 87 Question Id : 91394323617 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

3 ‘o ® 7y 98 % frarags & dag # fod wega i @
Options:

gfera s

913345392745,

2915334232746,

91334532747,

AT
91394392748,

Question Number : 88 Question Id : 91394323618 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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gati in India ?
Options:

91394392749 ord William Bentinck

Lord Ripon
91394292750,

41394392751 Lord John Shore

Lord Wellesley
913942392752,

Question Number : 88 Question Id : 91394323618 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freafafiaa # & S fafem maft se e & oot v S ImER A qer @ 2
Options:

21594292749, W

91334532750,

913345392751,

GIEE BRG]
91394392752,

Question Number : 89 Question Id : 91394323619 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘Biological inherited pattern of individuals’ is
Options:
Anomie

913345392753,

91394392754, |nstinct

91394392755, 1 reak

9139439275, ‘lienation
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Correct Marks: 2 WrongMarks: 0
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Options:

B1334592753.

| aftgfee (e waf)

2913394232754

913345392755,

913345392756, s

Question Number : 90 Question Id : 91394323620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which sociological theory is James Coleman related to ?
Options:

Conflict theory
91394392757,

Field theory
91334332758,

Rational choice theory
913324592759,

Exchange theo
Q1394292780 8 v

Question Number : 90 Question Id : 91394323620 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
ey e s gay few gurasmedy frga @ 2 0
Options:

oo fagra &

91334532757,

gt fargra &

2153342327586,

g wga fuga &
91394392759,
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Question Number : 91 Question Id : 91394323621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following was a peasant movement ?

Options:

Chipko Movement
91394392761,

a Samaj Movement

91394292762, Ary !
91394390763, Birsa Movement

Telangana Movement
1394392764,

Question Number : 91 Question Id : 91394323621 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Freafeafiaa 4 o v s segtes o ?

Options:

fagsht A=t
9139439276 1.

A HHTE TG
91394392762,

fremn argte
91394392763,

e FTgie
91394392764,

Question Number : 92 Question Id : 91394323622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following is not the principle of the life-span developmental approach
given by Baltes ?

Options:

Development is life long
215394232765,

Development involves both gain and loss
91394392766,
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Development cannot be modified
913942392768,

Question Number : 92 Question Id : 91394323622 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Prferfiaa 3 & S-a1 areea g wiaaifen sfa-srafy femamas sfirm = faga 7@ 2 0

Options:

farwma ftew weid= 2
91394392765,

913345392766, e i 2 ¢

farmma & wamaet w1 fEd=site smees e 2
91394392767,

farrma =t war=afia =81 fon = g
91394392768,

Question Number : 93 Question Id : 91394323623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
As per the provisions of Poor Law 1601, which one of the following places was not
mentioned in the law for keeping poor ?

Options:

91394390769 " ork Houses

91394392770, ‘s Houses

91354399771 Settlement Homes

91394390770 House of Correction

Question Number : 93 Question Id : 91394323623 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g @ 1601 % WavHEl % gan, Frefafaa # @ fea v o sga BdA =t wd & fav s
Tgt foran o 2

Options:
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Q1394392770 T

geee T8
91394392771,

B133453277%2. B

Question Number : 94 Question Id : 91394323624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
‘Change or stability in mental activities such as learning, attention, memeory, language,
thinking, reasoning and creativity’ is

Options:

Physical development
21394292773,

Psycho-social development
91394292774,

Cognitive development
91394332775,

9139439077, Soval construction

Question Number : 94 Question Id : 91394323624 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“wraftres farmatt & dva, e 2, wfa, wm, fomam, adon sft gomar’ 4 afeds @ férar &
FEd §

Options:

B13345392773.

91394392774, - |

T o
91394392775,

B13345392776.

Question Number : 95 Question Id : 91394323625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which one of the following is a characteristic of institution ?

Options:

No definite objective
91394392777,

Collective and group activities
91324592778,

Instability
91394392779,

No symbol
91334332780,

Question Number : 95 Question Id : 91394323625 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
freafefiga & @ deen & fagwm w2 2
Options:

91334532777, " e

215394292775, e T

2153394232779,

il ek
91394392780, R T

Question Number : 96 Question Id : 91394323626 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The basis of Durkheim’s theory of deviance is
Options:
Ritualism
91394392781,

Conformity
91394292782,

91394390753, ‘nomie

91394392784, eireatism
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gatén % feamr= fagia #1 smam 2
Options:

91334532751,

B1334592782.

215394292785,

B13345392784.

Question Number : 97 Question Id : 91394323627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

‘Degree of consciousness about thinking, feelings and actions’ is

Options:

91394392755, Self-awareness
91394390785, Sel-esteem
91394392787, ol respect
91394392785, Self-confidence

Question Number : 97 Question Id : 91394323627 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

P, st i Bmadt 3 i 3§ e W 9w o
Options:

91394392785, oA

H13345392786.

91394392787, -

91394392788, IR
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Sub-Section Number: 2
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Question Shuffling Allowed : Yes

Question Number : 98 Question Id : 91394323628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following aspects are true in case of community organisation ?

(i)  Democratic procedures

(ii)  Voluntary co-operation
(iii) Self-help

(iv) Development of leadership

(v) Educational aspects
Choose the correct answer from the code given bhelow :

Code :

Options:

Only (i), (ii) and (iii)
913942927849,

Only (i), (iii), (iv) and (v)
913943292790,

(1), (ii), (iii), (iv) and (v)
Q1394292791

Only (i), (iii) and (iv)
91394392792,

Question Number : 98 Question Id : 91394323628 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Freafafiaa 4 @ s-8 vae amges @res S ama 4 &8 § 2

(i) SRt SiwaTd

(i) e ggam

(iii) F=-HE

(iv) gea = faswm

(v)  Degfire vge

F= fiw me g2 § & wdt s S Ihw
w2

Options:
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91394392789,

FA (1), (iid), (iv) 3 (v)

91394392790,
(1), (i), (iid), (iv) 3 (v)
91394392791,
Fad (1), (iii) 3 (iv)
91394392792,

Question Number : 99 Question Id : 91394323629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following statements are true about ‘Ego’ ?
(i) It mediates between instincts and the environment.
(ii) It controls consciousness and exercises censorship.
(iii) It acts as judicial branch of personality.
(iv) It is ruled by the reality principle.
Choose the correct answer from the code given below :

Code:

Options:

Only (i), (ii) and (iv)
Q1394392793

Only (ii) and (iii)
91394392794,

Only (ii), (iii) and (iv)
91394392795,

(i), (ii), (iii) and (iv)
91394392796,

Question Number : 99 Question Id : 91394323629 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



APVW LI G PR R 2 .2 o w8 2 prepe
(i) 7 waftr sft watam & ot wereyar e R

(i) = = Frafm v & 99 g = S g |
(ili) A FARF @ FE=Td Fd Fa1 8 |
(iv) areafasrat fagm gro i gar 2

Hr feu T g & | W I w9
C T
Options:

Fad (1), (i) AT (iv)
Q1394292795

e (ii) 3 (iii)
91394392794,

Fae (i), (iii) 3 (iv)
91394392795,

(1), (i), (iii) 3 (iv)
91394392796,

Question Number : 100 Question Id : 91394323630 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The ‘2030 Agenda for Sustainable Development’ adopted at the United Nations Sustainable
Development Summit is a plan of action for

(i) People

(ii)  Planet

(iii) Progress

(iv) Prosperity

Choose the correct answer from the code given below :
Code:

Options:

Only (1) and (ii)
91394332797,

Only (ii) and (iii)
913942927938,

Only (i), (ii) and (iii)
215394232799,

Only (i), (ii) and (iv)
A1394292800.
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Question Number : 100 Question Id : 91394323630 Question Type: MCQ Option Shuffling : Yes Display Question Niimber™"Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gy Ueg gaa fasra firat aetem § siftewa it ot “gaa fasm * fow 2030 6t weigEt fras
foru s e 2 2

(i) W=
(i) TE
(i) wfar
(iv) wmfg
Fr= R T ge & @ vt IR ghe
% :
Options:

FAe (1) 3 (i)
91394392797,

e (i) 3 (iid)
91394392798,

FaA (1), (i) 3N (iid)
91394392799,

Fae (1), (i) 3 (iv)
91394392800,

Question Number : 101 Question Id : 91394323631 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following case work assumptions are correct ?

(i) Individual and society are interdependent and complementary.
(ii) Various operative factors influence human behaviour and attitude.
(iii) Problems are psychological as well as interpersonal in nature.

(iv) Social case work enables an individual to solve problems and to channelize energies
and capabilities in a positive way.

(v) Social case work provides equal rights to everyone and reaches out to every needy and
troubled person.

Choose the correct answer from the code given below :
Code:

Options:

Only (i), (ii) and (iv)
21594232801,



WWW.PrepPeRLy iy, (iii), (iv) and (v) prepp
91394392802, v

(1), (ii), (iii), (iv) and (v)
91334592803,

Only (iii), (iv) and (v)
215394232804,

Question Number : 101 Question Id : 91394323631 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frefefiea o a5 aramed 4 @ st wd 2 2

(i) =afa it gara srat-afan ot 9 2 |

(ii) ®rE % sgagn 3 It sfvaft =t fafim yeremma s wfas #@ 8 )
(iii) Fwead weras o sadafas v i 8t 2 |

(iv) HI9E Fd g% sofe i GHEITd Gog a1 Fel A Haars Fit Ghires ads 8 7rf 3 6
fafa 1

(v) T HE T Yoo sl i G AR TEH Hd1 & 3 T Siang a9 ueaned =4
T Tgeal 2 |

Fr= fow T g2 & @ vl I R ghe
F:
Options:
FA (1), (ii) 3 (iv)
91394392801,
Wae (i), (iid), (iv) 3 (v)
Q1394292802
(i), (i), (iii), (iv) 3T (v)
91394392803,
Fa (iid), (iv) 3 (v)
91394392804,

Question Number : 102 Question 1d : 91394323632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



CHRWNRY @R nswer about “Human Relations Approach” to workplace behaviour from 're“pmg
the code given below :

(i) Itis against those approaches which give individualistic and over-rational emphasis
to explain workers” behaviour in material terms.

(ii) It emphasizes the importance of informal groups in industry.

(iii) It has set the beginning of model of the factory as a social system and the worker as a
social man.
(iv) It considers the industrial man as a rational and economic man.
Code :
Options:
Only (i) and (ii)
21294292505,

Only (i), (iii) and (iv)
A1394392806.

Only (i) and (iv)
21294392507

Only (i), (ii) and (iii)
Q1=294392808.

Question Number : 102 Question Id : 91394323632 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
fr= fow e e @ Fri-tye W SAEER % A day At % an H adt 3w gh

(i) =g 3 sfirrat & faofla & ot wifas sl § sdert & sgagn 6 sarem +6@ % fou Safws qan
f- TR T < & |

(ii) @& F& | srta=nies THg % wae WA aT g |

(iii) o= wrTforR TomTelt % w9 # Seedt ot amafas safe % w9 & S H wew # w foe |
(iv) ¥8 terifires =afed i qehomes qan i w39 w2 |

®e !
Options:

e (i) 3 (i)
91394392805,

Fae (1), (i) 3 (iv)
91394392806,

FA (1) 3 (iv)
91394392807,

Fae (1), (i) 3 (i)
91394392808,
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Question Number : 103 Question Id : 91394323633 Question Type: MCQ Option Shuffling : Yes Display Question Niimber™"Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following are People’s Movements ?
(i)  Save Silent Valley Movement

(ii) Narmada Bachao Andolan
(iii) Honour for Women National Campaign

(iv) Nirbhaya Movement

Choose the correct answer from the code given below :

Code :

Options:

(1), (ii), (iii) and (iv)
912394392809,

Only (i) and (ii)
9194392510

Only (i), (ii) and (iv)
91942392511,

Only (ii) and (iv)
91394392512,

Question Number : 103 Question Id : 91394323633 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fFrafeafiga & @ #9-8 59 Ao & 7
() Ba amgeRe dft gEe

(i) +er wat SnigteE

T e Gap—— ——

(iv) Fof sees

F2 fg T gz 4 @ wd 3w A IR
e
Options:
91394392809, W@ 3 (iv)

e (D) # (i)
91394392810,

Fad (i), (ii) 3 (iv)
91394392811,



WWW.PrePP84 (i) st (iv) yeee
91394392812,

Question Number : 104 Question Id : 91394323634 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following duties have been prescribed for the citizens of India under the
Indian Constitution ?

(i) To develop scientific temper

(ii) To preserve the rich heritage of India

(iii) To minimise inequalities in income

(iv) To defend the country

Choose the correct answer from the code given below :

Code :

Options:

(1), (ii), (iii) and (iv)
91924392513

Only (i), (ii) and (iv)
91394=392514.

Only (i), (ii) and (iii)
91294392515,

Only (i) and (ii)
91594392516,

Question Number : 104 Question Id : 91394323634 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

WA & dfaar % i wra & Al  fo Freafafiaa wdeai § @ s fafea fmme d 2
(i) dgfaes wetgm w0 fasra e

(i) e i wyg faaa s deeor s

(i) o & Fwwansdt st =gFaw weEn

(iv) <3 6 @ FE

fr= R T 32 § @ Wt I A T

w2

Options:

a150asapmyg 0 0 D # (iv)

Fae (1), (i) 3 (iv)
Q1=394=2925814.



WWW-PTrePPyR4 i), (i) 3ft i) yeee
91394392815,

e (i) 3 (i)
91394392816,

Question Number : 105 Question Id : 91394323635 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which of the following is/are the skill(s) of social group work given by H.B. Trecker ?
(i)  Skill in using reality of the present
(ii) Skill in establishing professional relationships
(iii) Skill in analysing group situations
(iv) Skill in participation with groups
Choose the correct answer from the code given below :

Code :

Options:

Only (i), (iii) and (iv)
91=94392517.

Only (i) and (ii)
91594392515,

(1), (i), (iii) and (iv)
91924392519

Only (ii), (iii) and (iv)
Q1394=392520.

Question Number : 105 Question Id : 91394323635 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o, e g wfeafea gt wgqg sl % wte (Stwe) el § @ Soavs 38 2
() adur it areafassar s v w6 § g

(i) =ATEETTIS Hayg wrfyd w0 § g

(iii) wg feufa = favern %0 # Frgorn

(iv) TWg =% a1y Wi § Frgorn

Fr= R T g2 # @ v Im R P

He2:

Options::

Fa (1), (iiD) 3 (iv)
Q1394292817



WWW.preppyll; o oie i) prepe
91394392818,

(1), (ii), (iii) 3 (iv)
91394392819,

Fad (i), (i) 3 (iv)
91394392820,

Question Number : 106 Question Id : 91394323636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The following are related to Zero FIR :
(i) FIR to be filed within the jurisdiction where cognizable offence happened

(ii) Section 154 CrPC
(iii) No jurisdiction for filing FIR

(iv) Section 154 IPC
Choose the correct answer from the code given below :

Code :

Options:

(1), (ii), (iii) and (iv)
91394392521,

Only (1) and (iii)
Q1Z94392522

Only (i), (ii) and (iv)
91594392823,

Only (ii) and (iii)
15942392524,

Question Number : 106 Question Id : 91394323636 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
= wafieht & Frafafias geafia €

(i) snafirft st gferr & oo it st et @3 sty gan @
(i) g wfsran wfaar $t gra 154

(i) safieh gof F % fore 8 St T

(iv) wreta g2 |fegar i g/ 154

= fou e Fe & & = I H g

&e:

Options:



WWW-BTEPRAN i, (i) st (iv) Erepe
91394392821,

e (i) # (i)
91394392822,

Fad (i), (ii) 3 (iv)
91394392823,

e (i) 3 (iii)
91394392824,

Question Number : 107 Question Id : 91394323637 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
UN endorsed women’s empowerment principles include

(i) Promoting empowerment through thrift and credit
(ii) Ensuring the health, safety and well-being of all women and men workers
(iii) Promoting equality through community initiatives and advocacy

(iv) Establishing high-level corporate leadership for gender equality
Choose the correct answer from the code given below :

Code :

Options:

Only (i), (ii) and (iv)
91594392525,

Only (ii), (iii) and (iv)
D1394392826.

Only (i), (ii) and (iii)
1594392827,

Only (i), (iii) and (iv)
15924392525,

Question Number : 107 Question Id : 91394323637 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(i) = AN IgW o AT § FfRTAT i wgEn e

(i) |t wigen offt g FHETRT 1 TR, A AT FHearor T FwE
(iii) TS YEe 1 GErEHL % Wrem 8 HAAT H ggran o
(iv) St Tt % fore s=-wfty wiite Sge ofia e

Hr feu T g & | W I w9
C T
Options:

Fad (1), (i) 3 (iv)
Q12394292825

e (id), (i) 3 (iv)
91394392826,

e (1), (i) #1H (iid)
91394392827,

FaA (1), (i) 3 (iv)
91394392828,

Question Number : 108 Question Id : 91394323638 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The profession of social work is a helping activity based on
(i) Humanitarian philosophies
(i) Scientific knowledge
(iii) Technical skills

(iv) Providing aggressive leadership
Choose the correct answer from the code given below :
Code :

Options:

Omnly (i), (ii) and (iii)
215394232829,

Only (i) and (ii)
291334232830.

Only (1), (iii) and (iv)
91394292831,

(i), (ii), (iii) and (iv)
91394392632,



QueWw\Nggtgperﬁunwion Id : 91394323638 Question Type: MCQ Option Shuffling : Yes Display Questiof NUR{BHPY es
uestion Op

SingleLine tion : No Option Orientation : Vertical YourPersonal Exams Guide
Correct Marks: 2 WrongMarks: 0

gurs w1 egaur fen @ amarfa werae R 2 2
(i)  AEGATErd 5 W

(i) R 9 W

(iii) TRt e T

(iv) ATEHRIHH FTed TEH A T

fr= e me 5= # @ 7@ W g
F:
Options:
Fae (1), (i) 3 (iid)
91394392829,
FAe (1) 3 (i)
91394392830,
Fad (1), (iii) 3 (iv)
91394392831,
(i), (iD), (i) 3 (iv)
91394392832,

Sub-Section Number: 3
Sub-Section 1d: 9139431259
Question Shuffling Allowed : Yes

Question Id : 91394323639 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (109 to 113)
Cuesticon Label | Comprehension



RYGY WP Eﬁpﬁﬁ@ below and answer the questions that follow based on your 'relpmg
understanding of the passage :

Intolerance is prevalent in our society nowadays; there is a prodigious resource of
intolerance among different individuals and issues that concern them. People seem to have
become so intolerant that they seem to be looking for loopholes in the system so that they
can target the desired sector of the society, just to fuel their own narrow perspectives.

Recently, there have been many cases which show the bigotry of Indians towards minor
issues which tend to become omnipresent and reach dire consequences in no time. Our
society has become a playground for the intolerant where anyone who dislikes anything
makes a great hue and cry about it. Gaining public support is not difficult as there iz always
a large part of the populace that thinks alike. Small issues are popped and massive protests
are carried out with no reason and one always gets a needle in the haystack to start the fire.

The problem is not irrevocable; everyone needs to know their own limitations and should
avoid erossing them. The media should know when not to cross the line, which articles need
to be published and which not. In America, no newspaper for instance would print the
so-called “n” word when referring to Black Americans — not because the government
disallows it but because the editors are conscious of what is the socially acceptable thing to
do. Indian editors are capable of the same judgements. Leaving governments to decide what
is reasonable and responsible substitutes the judgement of the authorities for the judgement
of the media, and so jeopardizes press freedom. Societies have self-correcting mechanisms
and whenever media goes too far it rapidly discovers the limits for itself.

Every time we bow to intolerance, we are betraying our tradition of being tolerant and we
are letting ourselves down as a civilization. It is time to wake up from the slumber and do
something to prevent intolerance, prejudices and fanaticism of the Indian society.

Sub questions

Question Number : 109 Question Id : 91394323640 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Why is/are society/individuals becoming intolerant ?

Options:
Media reports are not fair
91394392833,
People are serving their vested interests
91394292834,
People are looking into the loopholes in the system to target the desired sector to fuel their
OWDN NATTOW per ives
91394392835 perspecti
People are guided by their emotions
21394292836, P &4 y

Question Number : 110 Question Id : 91394323641 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

How have minor issues become omnipresent ?

Options:



WWW.PrePPHbLiyy ctive issues gather greater attention r re p p
91394292837, Your Personal Exams Guide

Like-minded populace get together and minor issues are popped up resulting in massive

protests
G]13943292838.
91394390539, Social media is active

People take special interest to maximise the support through advertisement
Al 294292840, p pect ppo &

Question Number : 111 Question Id : 91394323642 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

1= the problem of intolerance irrevocable ?

Options:
No, it will always be there in all societies
91594392541,
Yes, everyone should know their own limitations and avoid crossing them
91394332842
It depends on the nature of the society
91394392843,
It is difficult to stop in hetrogeneous societies
215942925844,

Question Number : 112 Question Id : 91394323643 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who should control society in terms of intolerance ?

Options:
Media plays an important role
91394392845, pay po
91394392246, Government takes an initiative
Political leaders can do this job
91394392847,
It is a self-correcting mechanism in the society which helps in controlling
91394392848,

Question Number : 113 Question Id : 91394323644 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Wﬂmﬁ’eiﬁbne to prevent intolerance ? rrepp

Your Personal Exams Guide
Options:

Every time we bow to intolerance we are letting ourselves down as a civilization
215394232849,

91354399850, Strict laws need to be administered

91394392851 Administrative measures need to be taken

Ethics and morality play an important role
G]1394392852, t play po

Question Id : 91394323639 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (109 to 113)
Juestion Label @ Comprehension
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i «
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59 THe wA wiea T8 g | wifs wda & et # ueh wer fewm g & ot v & wiean 2
FHM F g0 qe 3N W § aun wrh fatty wewh o s @ awn foeft 6t wr % dS A s @ %
fore Feprrdt foren & ot &

a5 gue Ut 8 foge i fasey 761 &) vedss safem it st diard = qun 3% o & T91 6
sravasar § | Hifgm =t a7 s i B e @ e a8 w1 8, $-8 o e § el
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HuTes 39 ord o i T & fo armfoes w9 8 7 wfierd 2 |yt gures 38 v fofr em |
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g1

B9 B A1 S iR % T ged ¥ 4 7, a1 g afesy g9 o srodt gom @ favaraema wd &
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Sub questions

Question Number : 109 Question Id : 91394323640 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
guTs/=afaa w4 srafes] a9 wAE § ?

Options:



WWW.PIEPPAR, o i faass 7 & Freee
91394392833,

an a fifig mf ww @ #
91394392834,

@i a1 wehf sfoiet it St 33 & for aifisa & i aft w0 3g s § afel g @ §
91394392835,

H1334592836. W 21 @ wa

Question Number : 110 Question Id : 91394323641 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

qeo e e yar gdeardt o7 omd & 2
Options:

faearens g2 #fis HIFE Fld
91394392837 = = g

HT AT & @ U A1y E W § o e ge o wr & R wfmreasy wit fatty wee
B &

91334592838,

artfore e afea 2
91334392839,

it fersram o wream @ stferehan aweds gem # fadm wfy o §
91294292340

Question Number : 111 Question Id : 91394323642 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
1 ST 1 gE 1 feheq T 2 7

Options:

91394392841 T, e T FA

91394395345 &, e safed 9t 7ot ad % ar § S =R o 35 oo @ a9 e

o5 TuTa 6t wepfa W Fft e @
91394392843

38 feramdta Tt § TR e R
91394392844,



QuwW\Nl_g‘tgpoe;mQueﬂion Id : 91394323643 Question Type: MCQ Option Shuffling : Yes Display Questiof NUR{BHPY es
|

SingleLine Qu Option : No Option Orientation : Vertical Your Personal Exams Guide
Correct Marks: 2 WrongMarks: 0

Frafgepn i gfee & fordt ammst W Frion vaen = 2
Options:

| Hifea wamagel siftr Frvmar 2

2913394232845

TR T8ed ol
91394392846, ¢

TR AT 98 W & dhd &
91394392847,

HATS § T i GUTH a1en 9 faeme & o 58 Fafe 9 o g = @
91394392848,

Question Number : 113 Question 1d : 91394323644 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Frafaeupt it U o fore o1 e it sTravgsa 2 2

Options:
T B 9 FAE[AT F FEE YA 9% od 8, °1 59 Ush TEAAl o B9 H 91 HEAE FH BGE 7
91394392849,
HIE FILA AT HA h ATETTIRAT B
91394392850,
st 3ura fohe s i stravEwar &
91394392851
Fran 3fit Afrwar et i Fae §
91394392852,
Sub-Section Number : 4
Sub-Section Id: 9139431260
Question Shuffling Allowed : Yes

Question Number : 114 Question Id : 91394323645 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



ANMWARLS Pﬁéﬁlan is used as a measure of scale value in the method of equal appearing rrepp

intervals.
Reason (R) : In normal distribution, mean, median and mode are identieal.
In the context of these two statements, which one of the following is correct ?

Code :
Options:

Both (A) and (R) are false.
Q1294292852

Both (A) and (R) are true.
Q1394392854

(A) is true, but (R) is false.
91334592855,

(A) is falze, but (R) is true.
91294392356,

Question Number : 114 Question Id : 91394323645 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ST (A) : THH &9 d FH aret dae arett fafa F wfeden St T qea & 9w F w0 A ww
fepram wmaT 2 1

% (R) : g T & mvea, wifesht qon ageie 99 B § |

A FE s aed A, Feffaa da o adi & 2

He:
Options:

(A) 3R (R Teld & |
91394392853, } )3 g

(A) 3R (R |
91394392854, ‘ ) 3F = 8

(A) @& B, 9 (R) Tea 2 |
91394392855,

(A) Ted &, g (R) TR 2 |
91394392856,

Question Number : 115 Question Id : 91394323646 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Reason (R) : Role conflict is not common in traditional societies where each person plays a
limited number of roles.

In the context of these two statements, which one of the following is correct ?

Code :
Options:

(A) is true, but (R) is false.
H13345392857.

Both (A) and (R) are false.
91394392858,

(A) is false, but (R) is true.
Q1294392859

Both (A) and (R) are true.
Q1294292 880,

Question Number : 115 Question Id : 91394323646 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Hfirwe (A) : GaeTE gar # it g 9Tea=d & g § |
@ (R) : TPTd BT |, Wal Wedh safeq Hifia e 9 yftreerd Framan 2, sfem g5 a4 2
A s S A, Frefefem A a s adt 2 2
E T
Options:

(A) T &, T (R) Terd & |
91394392857,

(A) 3 (R Terd 8 |
91394392858, ) )T g

(A) e 8, 9 (R) @8t 2
91394392859,

(A) 3 (R I
91394392860, } ) 3 T

Question Number : 116 Question Id : 91394323647 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Adolescents undergo physical and physiological changes.
Reason (R) : The phase of adolescence is full of stress and turbulence.
In the context of these two statements, which one of the following is correct ?

Code :

Options:



WWW.PrePPH) is true, but (R) is false. prepp
91394392861,

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394292862,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
215394232863,

Both (A) and (R) are true.
Gl 3943292864,

Question Number : 116 Question Id : 91394323647 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

sfirme (A) - Torairdt & wriifiar ait srli-framers wfadm §9 2
% (R) : Forviroaeen o= oftt 3o @ vl St

3w % Al |, Frfafsm A a shmad & 2

% :

Options:

(A) T &, (R) Teid & |
91394392361, A

(A) 3 (R) 9T (R), (A) 1 Tt =arean 2 |
91394392862, g b b

(&) 3R (R) 3t @t €, g (R), (A) 1 Gt =t 7 2 |
91394392863,

(A) 3 (R |
91394392864, } ) 3 T

Question Number : 117 Question Id : 91394323648 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Asgsertion (A) : Poverty takes its toll on individuals, families and eommunities.
Reason (R) : Poor often feel helpless against natural, social, economic and political forces.
In the context of these two statements, which one of the following is correct ?

Code:
Options:

(A) is true, but (R) is false.
Q1=294392865,

(A) is false, but (R) is true.
Q1594392866

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594392867
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Question Number : 117 Question Id : 91394323648 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

sfirme (A) - Tt safe, qfar aur gHgra i s R = 2

7% (R) : 7t wra: wrhfaes, arfas, st aur werfifaes wfemsi & amt o &t smem vegqm +@@
21

T g eyl o e |, Fefafaa d @ shmad g 2

e

Options:

(A) T B, 9 (R) Tera 2 |
91394392865,

(A) e 8, 9 (R) T8 2 |
91394392866,

(A) 3R (R) 3t vt €, 7=g (R), (A) ¥ Tt = 7 2 |
F1594392E67.

(A) # (R) a1 (R), (A) 1 Fat =grean & |
91394392868, g e ¢

Question Number : 118 Question Id : 91394323649 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Asgsertion (A) : Women and child development poliey iz called “Protective discrimination”.

Reason (R) : This iz beneficial only for women.
In the context of these two statements, which one of the following is correct ?

Code:
Options:

(A) is true, but (R) is false.
Q1=294392869,

Both (A) and (R) are false.
A13943292870.

(A) is false, but (R) is true.
Q12943925871

Both (A) and (R) are true.
Q12943292872

Question Number : 118 Question Id : 91394323649 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(A) T& &, Td (R) Terd & |
91394392869,

A) (R Teld & |
91394392870, @& 3R (B T g

(A) Ted B, (R) @&t 2 |
Q129429287 1. e

A) F (R I
91394392872, @ 3 (R) 3 7 8

Question Number : 119 Question Id : 91394323650 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Asgsertion (A) : The changes instituted by Western societies had an elitist bias.
HReason (R) : Changes initiated by the elite are not widely accepted at grassroot level.
In the context of these two statements, which one of the following is correct ?

Code :
Options:

(A) is true, but (R) is false.
B13345392873.

(A) is falze, but (R) is true.
Q15394292874

Both (A) and (R) are true.
Q1394392875

Both (A) and (R) are false.
A1=29429287E.

Question Number : 119 Question Id : 91394323650 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FfireFe (A) - areaTes wHra gro wfa fee o ftadal § sifirerdta gatog o )

o (R) : sifiraredt gro yiew feru o afiad=i 6t anamorem T W sgres w9 @ w781 fman |
B

FE s d, Fefafea d d srmadi 2 2

Hhe:

Options:
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(A) Ted B, T (R) TR R |
91294392374,

(A) 3 (R) g1 @t 8 |

21594292875,

(A) 3T (R TeAd & |
913943925876, } )3 g

Question Number : 120 Question Id : 91394323651 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : The importance of empowerment as process and outcome in social work
practice is expanding exponentially.

Reason (R) : Empowerment is the innate element of a social work philosophy.

In the context of these two statements, which one of the following is correct ?

Code :
Options:

Both (A) and (R) are true and (R) iz the correct explanation of (A).
215394232877,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
291334332878,

(A) is true, but (R) is false.
Q1594292879

(A) is false, but (R) is true.
Q1=294392850,

Question Number : 120 Question Id : 91394323651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

SR (A) : dfsean qun uftom 3 w9 8 gl i ggw g i sm A aft A g W g |
% (R) ; TR0 G S g3 1 Jqaid =99 & |

4 wyAl F o #, Pefafaa dd Smadi 2 2

% :

Options:

(A) #(R) 9T (R), (A) 1 Tt =g & |
9139439287 7. T @ b

(&) 3 (R) 341 Tt €, 7g (R), (A) 0t ot =are T |
91394392578,
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(A) T B, (R)T&E 2|
A1394=2Z92880. "T{ﬁ

Question Number : 121 Question Id : 91394323652 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Assertion (A) : In social work practice, the strengths perspective has emerged as an
alternative to the more common pathology-oriented approach in helping clients.

HReason (R) : Instead of focusing on clients’ problems and deficits, the strengths perspective
centres on clients’ abilities, talents and resources.

In the context of these two statements, which one of the following is correct ?

Code :
Options:

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1294392851

Both (A) and (R) are true and (R) is the correct explanation of (A).
915394392552,

(A) is true, but (R) is false.
Gl 3943292883.

(A) is falze, but (R) is true.
Q1594392854

Question Number : 121 Question Id : 91394323652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Ffireper (A) - Tura i anamg o i wfde darfiEt fr geea w0 8 afus g
tm-FreHyates surm % e S s d M F M 2 |
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Faw s ugd |, Fefafan s shmadt 2 2

e
Options:
(A) 3 (R) 1 |8t 8, T (R), (A) i et samea 78 7 |
91394392881,
(A) 3 (R) T (R), (A) it Tt =amEm # |
91394392882 & & @ ¢

(A) @& &, T0d (R) Terd & |
91394392883,
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Question Number : 122 Question 1d : 91394323653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Aszsertion (A) : The behaviour of the individual eannot be understood without reference to
the system to which he/she belongs.

Reason (R) : Social systems shape the response pattern of human beings.
In the context of these two statements, which one of the following is correct 7

Code :
Options:

(A) is true, but (R) is false.
Q1594292885

(A) is false, but (R) is true.
Q1294392886

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394292587,

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394332858,

Question Number : 122 Question 1d : 91394323653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

SfiFeT (A) : T =Afth % ST % Gug T8l o gehat, faen 39 womeft % wer g fowd @7 Hafua
2

% (R) : gt sonferat wgeai o wfafsran wrew it smer 3t 2

F 3w S ugd |, Fefaflgg d @ shmwdt 22

% :

Options:

(A) T &, 9 (R) Terd 2 |
91394392885,

(A) e 8, 9 (R) @8t 2
91394392888,

(A) 3 (R) 31 gt €, 7 (R), (A) 1 9t samem T § |
91394392887

(A) 3 (R) 9T (R), (A) i T8t =amEar g |
91394392838, o e & = &

Question Number : 123 Question Id : 91394323654 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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lives.

Reason (R) : Knowledge of power structure and disparities are essential for social work
practice.
In the context of these two statements, which one of the following is correct 7

Code :
Options:

(A) is true, but (R) is false.
Q1=294392859,

(A) is false, but (R) is true.
B13345392830.

Both (A) and (R) are true and (R) is the correct explanation of (A).
913943928491,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q15943925892

Question Number : 123 Question 1d : 91394323654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

i (A) : wod 1 fagia =7 saren a1 @ f fem ven v seaand aon sremman 61 & %
e W I9TE 9T # |

7% (R) : THT s 1| % fore wive | a9 smmma = 79 afE &)

& St wul % e |, Freafrfaa dd sRaadt & 7

$he:
Options:
(A) T 2, 9 (R) Terd 2 |
491394392889,
(A) TR 2, 9O (R) W&l 2 |
91394392890. 3
(A) 3 (R) T (R), (A) <t T =qrE & |
91394392891 w8 i &
(A) 3 (R) 31 |t 8§, T (R), (A) At ot samean 78 7 |
91394392892,

Question Number : 124 Question Id : 91394323655 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : Social dysfunctions adversely affect social functioning.
Reason (R) : Interaction between different systems invite dysfunctions also.
In the context of these two statements, which one of the following is correct ?

Code :
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2153394232895,

Both (A) and (R) are true.
Q13943292894

(A) is true, but (R) is false.
913345928395,

(A) is falze, but (R) is true.
91294392396,

Question Number : 124 Question Id : 91394323655 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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% :

Options:

(A) 3 (R TeAd & |
91394392893, } )3 g

(A) 3 (R |
91394392894, } ) 3w

(A) T 2, 7 (R) Teid 2 |
91394392895,

(A) TeTd B, 9 (R) T8 2 |
91394392896,

Question Number : 125 Question Id : 91394323656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Assertion (A) : Mass problems need mass solutions.

Reason (R) : The professional social worker needs to mobilize and organize people for solving
mass problems.

In the context of these two statements, which one of the following is correct ?

Code :
Options:

Both (A) and (R) are falze.
Q1=294292897.

(A) is true, but (R) is false.
Q1E94292898,
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Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q12943292900

Question Number : 125 Question 1d : 91394323656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

firperT (A) : 9 gaemei & fou 99 e i smavada § |
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% :

Options:

A) F (R TeAd 2 |
91394392897 @ 3R R®) 2 g

(A) @& &, T0d (R) Terd & |
91394392898,

(A) 3 (R) q9T (R), (A) i HEt =T & |
91394392899, i wd & < &

(A) 3 (R) SH1 @&t &, 7 (R), (A) it Gt = 78 # |
91394392900,

Question Number : 126 Question 1d : 91394323657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Assertion (A) : Welfare is a total concept.

Reason (R) : It is a desirable state of existence involving physical, mental, moral and
emotional well-being.

In the context of these two statements, which one of the following is correct ?

Code :
Options:

(A) is true, but (R) is false.
91394392901,

(A) is falzse, but (R) is true.
Q1=294392902,

Both (A) and (R) are true and (R) is the correct explanation of (A).
2153942329035,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
Q1594292904
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Correct Marks: 2 WrongMarks: 0

HFYT (A) : FA T FOU] HGUTON 8 |

7% (R) : 98 #Aferea &t v aretg ffa g faawt wifoss, aefiss, Sfas ot waameass e
afeifaa § |

T HeE oAl |, Fefafar d a srmadt 2 2
E %
Options:

(A) T &, (R) Teid & |
91394392901, A

(A) Ted &, g (R) TR 2 |
91394392902,

(A) 3 (R) a9 (R), (A) i 98 samean |
91394392903, o = & A ¢

(A) 3 (R) g1 9t €, 7 (R), (A) = ot =samean 76 & |
91394392904,

Sub-Section Number: 5
Sub-Section I d: 9139431261
Question Shuffling Allowed : Yes

Question Number : 127 Question 1d : 91394323658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Arrange the stages of Psychoanalytic therapy in sequential order.
(i) Initial Stage
(ii) Consolidation Stage
(iii) Transference Stage
(iv) Resolution Stage
Choose the correct answer from the code given below :
Code :
Options:
(i), (1ii), (ii), (iv)

91334592905,

(1), (i), (iii), (iv)
B133453929086,

(1), (i), (iv), (1iii)
91334532307,
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Question Number : 127 Question Id : 91394323658 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

getfervere fafsrear & Frafeofaa =i #t 39 a8t w0 & sqafem Hifsw
(i) Ffis =

(i) Hggro =0

(iii) ST =0

(iv) HHTEHE =10

ETE
Options:

(1), (iai), (i), (iv)
91334592305,

(1), (i), (iii), (iv)
913345392306,

(1), (11}, (1v), (1)
9133453923907,

(1), (iv), (iii), (i)
212334592908,

Question Number : 128 Question Id : 91394323659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify the correct sequence in Stages of Development given by Erikson.

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

::;i::gggggg_ Oral Stage, Genital (Oedipal) Stage, Anal Stage, Latency Stage, Adolescence Stage
1304300010, T2l Stage, Anal Stage, Latency Stage, Genital (Oedipal) Stage, Adolescence Stage
91394392911 Oral Stage, Anal Stage, Genital (Oedipal) Stage, Latency Stage, Adolescence Stage
9139439091 CralStage, Anal Stage, Adelescence Stage, Genital (Oedipal) Stage, Latency Stage

Question Number : 128 Question Id : 91394323659 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

! fepemrorareen
91394392909, T, ST (FE9E) Sraeat, Ta ST, FHsgfea s,

91394392910, T, TET Sfae, Frgfia sraedt, SR (i) sraeen, e

91394392911, T, TET STaedt, ST (Fw) sraedt, Fmmglea sreen, fevimaen

91394392912, T, a1 srred, fepiraedt, st (sehow) sraed, gl s

Question Number : 129 Question Id : 91394323660 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the following steps of Community Organisation Process given by Lindeman.

Options:

Consciousness of need, Spreading the consciousness of need, Projection of consciousness of

need, Emotional impulse to meet the need quickly
9133942392913,

Consciousness of need, Projection of consciousness of need, Spreading the consciousness of

need, Emotional impulse to meet the need quickly
91394392914,

Consciousness of need, Spreading the consciousness of need, Emotional impulse to meet the

need quickly, Projection of consciousness of need
913342392915,

Consciousness of need, Emotional impulse to meet the need quickly, Spreading the

consciousness of need, Projection of consciousness of need
91594292916,

Question Number : 129 Question Id : 91394323660 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fasia gro whrarfea ameifas wrea wfmn % Frafafaa et &t srafem fifsw
Options:

HATETIHAT hl =1, ATGTIHAT il =1 1 GAN, ATGTIHAT I S I GigayH, AG7gHd1 i M

QU e T WIS AT
91394392913,
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QU e T WIS AT
91394392914,

ATETIHAT h =G, ATETIRAT =TT HT GG, ATGTIRAT I G H H WIETeTR A&,

HTETTHT =T F AgdT=
91394392915,

HTETIHAT h AT, ATGTIRAT I G A H WIGToHR AT, AETIHAT ht a1 F TER,

HTETTFAT T =S F FfedyA
91394392916,

Question Number : 130 Question Id : 91394323661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Arrange in logical sequence, the various stages in Programme Management.
(i)  Monitoring and Evaluation
(ii) Project formulation

(ili) Identification of felt needs

(iv) Recording
Choose the correct answer from the code given below :

Code :
Options:

(1), (id), (iv), (iid)
913345392917,

(1), (ii), (1), (iv)
H13345392915.

(id), (1), (iii), (iv)
913345392919,

(1v), (ii), (i1), (1)
91334592920,

Question Number : 130 Question Id : 91394323661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



(i) Frmeh s e

(i) wferen Frfn

(iii) FEgE ® TS IR ATA h TEEH
(iv) Fewifdn

Hr feu T g & | W I w9
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Options:

(1), (id), (iv), (iid)
913345392917,

(1), (ii), (1), (iv)
B9123345392915.

(id), (1), (iii), (iv)
913345392919,

(1v), (ii), (i1), (1)
91334592920,

Question Number : 131 Question Id : 91394323662 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the correct sequence regarding stages of group development given by Northern and
Kurland.

Options:
Inclusion — Orientation, Mutuality and Goal achievement, Uncertainty — Exploration,
Separation — Termination

91294392921,
Inclusion — Orientation, Uncertainty — Exploration, Mutuality and Goal achievement,
Separation — Termination

Q1294392922
Uncertainty — Exploration, Inclusion — Orientation, Mutuality and Goal achievement,
Separation — Termination

Q1294392923
Mutuality — Exploration, Inclusion — Orientation, Uncertainty — Exploration,
Separation — Termination

91294392924,

Question Number : 131 Question Id : 91394323662 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
1E qen Ferve grn R e uE faera % i % daw § wdt w6 veeE wifi

Options:



mv;\;vg\/\g/-zzf:lppdﬂam — sAfireier, greeafrar aun wew wita, sfafeuaar — mew, geram - gare prepp

HaTae — sttt sfifraadr — mew, gresfinar aun @ wita, gt — dETeE

91394392922
wffFaaar — e, wwrETE — sttt gk aen ae wita, gerEeR — T
91394392923
qreEafiRdl — e, T — sttt siffreaar — mEwon, gaesr — TETe
91394392924

Question Number : 132 Question 1d : 91394323663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Arrange the following protective labour legislations in chronological order :
(i) Workmen's Compensation Act

(ii) The Payment of Wages Act

(iii) The Minimum Wages Act

(iv) The Child Labour (Prohibition and Regulation) Act
Choose the correct answer from the code given below :
Code:

Options:

(1), (i), (iii), (iv)
91394392925,

(11), (1), (iv), (111)
H1334592926.

(1ii), (iw), (1), (i)
13345392927,

(1w), (1ii), (ii), ()
91334592928,

Question Number : 132 Question 1d : 91394323663 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(iv) =rer o (Fey ofk fafem) arfufem

Hr feu T g & | W I w9
C T
Options:

(1), (1), (1ii), (iv)
91334592925,

(1), (1), (iv), (iii)
H1334592926.

(iii), (iv), (i), (i)
13345392927,

(i), (1), (i), (1)
91334592928,

Question Number : 133 Question 1d : 91394323664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the correct sequence in stages of development given by Freud :

Options:

Oral, Phallic, Anal, Latency, Genital
91394392929,

Oral, Latency, Phallic, Anal, Genital
912394392920,

Oral, Genital, Phallie, Latency, Anal
913942392921,

Oral, Anal, Phallic, Latency, Genital
91294392932,

Question Number : 133 Question Id : 91394323664 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
wraE g f5u o fashra & =0t & @gt w6 vgem Fife

Options:

titfigeh, <ifireh, e, swmugfa, sETiE
91394392929,
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91394392931,

91394392932,

Sub-Section Number: 6
Sub-Section Id: 9139431262
Question Shuffling Allowed : Yes

Question Number : 134 Question Id : 91394323665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Mateh List I with List IT and choose the correct answer from the code given below :

List I List IT
(a) Oral History (i) Quantitative Data
(b) Survey (ii) People’s Knowledge
(c) Sampling (iii) In-depth Study of a unit
(d) Case Study (iv) Representative of a whole
Code:
Options:

(a)(i), (b)—(ii), (e)Liii), (d)—liv)
91594392933,

(a)ii), (b)—(i), (e)—(iv), (d)(iii)
91394392934,

(a)—iil), (b)~(iv), (e)~(i), (d)—(ii)
91394392935,

(a)—{iv), (b)—(iii), (e)-(id), (d)—~1)
91234292926,

Question Number : 134 Question 1d : 91394323665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gt It eht 11 % arer gafea $ifie st A= foo me e 3 2 ad s+ g9fn:

1 LIl
(a) wifigs sfem () wmEToRe e
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E:
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(a)—(i), (b)—(i), (e)—(ii), (d)—(iv)
91394392953,

(a)—(ii), (h)—(1), (e)—(iv), (d)—{iii)
913943929354,

(a)—iii), (b)~iv), (e)i), (d)—(ii)
91394392935,

(a)—{iv), (b)—(iii), (e)(id), (d)—~(D)
91594392936,

Question Number : 135 Question Id : 91394323666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mateh List I with List IT and choose the correct answer from the code given below :
List I List 11
(Thinker) (Social Work Practice)

(a) Lydia Rapoport (i) Feminist Social Work Practice

(b) Neil Bateman (i) Crisis Intervention Practice

(e) Peter Marsh (iii) Task-Centered Social Work Practice

(d) Lena Dominelli (iv) Welfare Rights Practice

Code :
Options:

(a)(ii), (b)—(iv), (e)-(iii), (d)—(1)
91394332957,

(a)—(i), (b)—(ii), (e)—(iii), (d)—liv)
91394392938,

(a)—iv), (b)—(iii), (e)—(id), (d)—~1)
91234292939,

(a)—{1), (b)—(iil), (e)—{iv), (d)—(ii)
91394332940,

Question Number : 135 Question Id ;: 91394323666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gt 1t =t 11 % Ty gafea $ifse ot A= fo me e 4 @ ad 3@+ g9f:

g1 I
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(d) o sifireett  (iv) e sfasn sremE
C T
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(a)—(ii), (b)—(iv), (e)—(iii), (d)—(i)
91394392937,

(a)—(i), (b)—{ii), (e)—(iii), (d)—(iv)
9133432392938,

(a)iv), (b)—(iii), (e)—(ii), (d)—(1)
91394392939,

(a)—(1), (b)(iii), (e)—iv), (d)—(ii)
91594292940,

Question Number : 136 Question Id : 91394323667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mateh List I with List IT and choose the correct answer from the code given below :

List I List I1
(Author) (Change perspective)
(a) Sorokin (i) Structural-Functional
(b) Dahrendorf (ii) Cyclical
(c) Spencer (iii) Dialeectical
(d) Durkheim (iv) Ewvolutionary
Code :
Options:
(a)—(ii), (b)—(iii), (e)—(iv), (d)—(i)
91394292941,
(a)—(i), (b)—(iii), (e)—(ii), (d)—(iv)
21394292942,
(a)—(ii), (b)—(iv), (e)—~(i), (d)—(iii)
91594392543,
(a)—(iii), (b)—(i), (e)(ii), (d)iv)
91394292944,

Question Number : 136 Question Id : 91394323667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

gt 1%t gt 11 % a1y gefea Hifer oft F= fGg e g 3 @ &t s =t 9fw

1 Hel I

(wftrare) (= afciea)
(a) orfE (i) HCEATCHS-ShATcHH
(b) TEHSTH (i) =R
(¢) ¥ (iii) grgreaeh

(d) gat (iv) forhrarere
% :
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(a)—(ii), (b)—(iii), (e)~(iv), (d)—(i)
91394392941,

(a)—(1), (b)—(iii), (e)—{ii), (d)~(iv)
913342392942,

(a)—ii), (b)—(iv), (e)—(i), (d)iii)
912342929435,

(a)—(iii), (b)—(i), (e)-ii), (d)~(iv)
91594292944,

Question Number : 137 Question Id : 91394323668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Mateh List I with List IT and choose the correct answer from the code given below :
List I List I1
(a) Exploratory (i) Whyitis?
(b) Experimental (ii) What isit?
(e) Descriptive (iii) How to treat it ?
(d) Diagnostic (iv) Howisit?
Code:
Options:

(a)—iv), (b)—(iii), (e)—(ii), (d)—(i)
91334592945,

(a)—(i), (b)—(iv), (e)—(iii), (d)—(ii)
91334332946,

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91234292947,

(a)—(i), (b)ii), (e)—(iii), (d)-iv)
915394392948,

Question Number : 137 Question Id : 91394323668 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

gt 1t =t 11 % Ty gafea $ifse it f= fau mo e 3 @ ad s@ =+ g9f:

gl | 1T
(a) wH=adt (i) TEFR?
(b) WIS (i) FeFTR?
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(d) e (iv) TEHa 2?2

% :

Options:



WWW.PFEPRUR (i), (byiii), (c)—(i), (d)—(i) prepp
91394392945,

(a)—i), (b)—(iv), (e)—{iii), (d)—(ii)
91394332946,

(a)ii), (b)—(i), (e)(iv), (d)iii)
91394332947,

(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91394392948,

Question Number : 138 Question Id : 91394323669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :

ListI List IT
(a) Monogamy (i)  Husband marrying sister of his wife
(b) Polyandry (ii) Wife marrying brother of her husband

(¢) Fraternal polyandry (iii) One husband one wife
(d) Sororal polygyny  (iv) One wife and more than one husband

Code:
Options:

(a)iii), (b)—(1), (e)—(id), (d)—(iv)
91394392949,

(a)—i), (b)—(iii), (e)—{iv), (d)—(ii)
91394332350

(a)—(iii), (b)iv), (e)(ii), (d)—(i)
91394392951,

(a)—(iv), (b)—(iii), (e)-ii), (d)—(i)
91394392952,

Question Number : 138 Question Id : 91394323669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt It et 11 % ary gafea $ifag it A= foo mo e 4 @ a8 s+ g9f:
gt et I
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WWW.PrePPRR (i) (b)—(i), ()i, (d)—(iv) prepp
91394352949,

(a)—(1), (b)(iii), (e)-{iv), (d)—(ii)
912394292950,

(a)—(iii), (b)—(iv), (e)(ii), (d)—i)
91334592951,

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
913343392952,

Question Number : 139 Question Id : 91394323670 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List I with List IT and choose the correct answer from the code given below :
List I List IT
(Stag of Life) (Characteristic)

(a) Adolescence (i) Identity vs Role confusion

(b) Young adulthood (ii) Intimacy vs Isolation

(c) Middle age (ili) Generativity vs Stagnation

(d) Later life (iv) Integrity vs Despair

Code :
Options:

(a)—iv), (b)—(iii), (e)—ii), (d)—(i)
H133453925953.

(a)—iii), (b)—~(iD), (e)—(i), (d)—(iv)
9133433923954,

(a)—i), (b)—ii), (e)—(iii), (d)-iv)
91234292955,

(a)-ii), (b)—(iv), (e)—(i), (d){iii)
91594392956,

Question Number : 139 Question Id ;: 91394323670 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t =t 11 % Ty gafea $ifse ot A= fo me e 4 @ ad 3@+ g9f:
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WWW.PrePPRR iv). (b)), (i), (d)—(i) prepp
91394392953,

(a)—iii), (b)(id), (e)—(i), (d)—{iv)
912324292954,

(a)—i), (b)—(ii), (e)-(iii), (d)—iv)
91334592955,

(a)—ii), (b)—(iv), (e)—(i), (d)—(iii)
9133433923956,

Question Number : 140 Question Id : 91394323671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :

ListI List I1
(Theory) (Exponent)
(a) Two factor theory (i) Herzberg
(b) Expectance theory (ii) Vroom
(¢) Participation theory — X, Y (iii) MecGregor
(d) Theory —Z (iv) Urwick
Code:
Options:
(a)—(ii), (b)(iii), (e)—(iv), (d)—(i)
21594292957,
(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
915943924958,
(a)—iv), (b)—(i), (e)(ii), (d)—(iii)
91394332959,
(a)—(iii), (b)—(iv), (e)-i), (d)—(ii)
215394232960,

Question Number : 140 Question Id : 91394323671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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WWW.PIePRN (i), (b)), (c)—(iv), (d)—(i) prepp
91394392957,

(a)—(i), (b)—(ii), (e)—(iii), (d)—iv)
91234392958,

(a)—(iv), (b)—(i), (e)(ii), (d){iii)
91394332959,

(a)—(iii), (b)—~(iv), (e)—i), (d)—(ii)
91394392960.

Question Number : 141 Question Id : 91394323672 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :

ListI List IT
(Management Technigue) (Propounder)
(a) MBO as a system of managerial leadership (i) Heinz Weihrich
(b) TOWS matrix of strategic planning (ii) Alex F. Osborn
(c) Delphi Technique (iii) George Odiorne
(d) Brainstorming (iv) Olaf Helmer
Code:
Options:
(a)—(ii), (b)—(iv), (e)—(iii), (d)—(i)
21594292961,
(a)—iii), (b)~(1), (e)—(iv), (d)—(ii)
1594392962,
(a)(iv), (b)(ii), (e)~(i), (d)iii)
313943932963,
(a)—(iii), (b)(ii), (e)iv), (d)—(i)
215394232964,

Question Number : 141 Question Id ;: 91394323672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gt 1t =t 11 % Ty gafea $ifse ot A= fo me e 4 @ ad 3@+ g9f:
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WWW.PrePPRR (i) (b)—(iv), (i), (d)—(i) prepp
91394392961,

(a)(iii), (b)~(1), (e)-iv), (d)—(ii)
91534392962,

(a)iv), (b)—(ii), (e)—(i), (d)—(iii)
H1334592963.

(a)—iii), (b)~(iD), (e)—liv), (d)~(1)
913343323964,

Question Number : 142 Question Id : 91394323673 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :
List I List IT
(a) Empirical Research (i) Knowledge free from bias
(b) Objectivity (ii) Personal assertion
(¢) Fact (iii) Field based data
(d) Subjectivity (iv) Empirical evidence

Code :
Options:

(a)—(1), (b)—(iii), (e)—{ii), (d)~(iv)
913343392965,

(a)—(iii), (b)—(1), (e)—{iv), (d)—(ii)
91234392966,

(a)—ii), (b)—(iii), (e)—{iv), (d)—~1)
91594392967,

(a)—(iv), (b)—(1), (e)—(ii), (d)—(iii)
913234292968,

Question Number : 142 Question Id : 91394323673 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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WWW.PrePPRR ) (b)), ()i, (d)—(iv) prepp
91394392965,

(a)—{iii), (b)—(1), (e)—{iv), (d)—(ii)
91394332966,

(a)—(ii), (b)—(iii), (e)(iv), (d)—(1)
91394332967,

(a)—=(iv), (b)), (e)—(ii), (d)—(iii)
91394392968,

Question Number : 143 Question Id : 91394323674 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with List IT and choose the correct answer from the code given below :
List I List I1
(Exponent) (Basis of social change)
(a) Auguste Comte (i) Theological, metaphysical and positive stages of society
(b) Herbert Spencer (ii) Society which necessitated struggle for existence

(c) Karl Marx (iii) Deterministic or single factor theory of social change
(d) Veblen (iv) Environment plays a far reaching role in bringing
about social change
Code :
Options:

(a)(i), (b)—(ii), (e)—{(iii), (d)—iv)
91234292969,

(a)-ii), (b)—(i), (e)(iv), (d)(iii)
91394332370

(a)—iii), (b)~(iv), (e)~(id), (d)~(D)
9139439297 1.

(a)—{iv), (b)—(iii), (e)~(i), (d)—(ii)
91394392972,

Question Number : 143 Question 1d : 91394323674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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{a}—{i}, {h}—{ﬁ}, {c}_{ijj}, {d}_{iv} Personal Exams Guide
21394292969,

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
913342323970,

(a)(iii), (b)—(iv), (e)(ii), (d)—(1)
91234292971,

(a)—(iv), (b)—(iii), (e)(1), (d)—(ii)
913945392972,

Question Number : 144 Question Id : 91394323675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mateh List I with List IT and choose the correct answer from the code given below :
List I List IT
(Concept) (Proponent)

(a) Categories of Kinship (i) Max Weber

(b) Life Chances (i) Murdock

() Sanskritization (iii) Robert Redfield

(d) Little and Great Traditions (iv) M.N. Srinivas

Code :
Options:

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
912324392973,

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91334592974,

(a)—(iii), (b)—(iv), (e)~(i), (d)—(ii)
913343392975,

(a)—iv), (b)—(iii), (e)(ii), (d)—(1)
91394392976,

Question Number : 144 Question 1d : 91394323675 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(c) HEFTHTO (iii) T tefive

(d) fefes v e oo (iv) .. Hfifvams
% :
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{E.}—{i}, {h}—{ﬁ}’ {c}_{'ijj_}, {d}_{iv} Personal Exams Guide
21394292973,

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91334232974,

(a)(iii), (b)—(iv), (e)-i), (d)—(ii)
91234392975,

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91394392976,

Question Number : 145 Question Id : 91394323676 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Mateh List I with List IT and choose the correct answer from the code given below :
List I List IT
(Day) (Focus/Importance)

(a) 9 o omber () National Balika Divas

(b) g yonember (i) World Day on Economic and Social Development
(e} gth oamber (i) World Disabled Day

(d) gth yocember (V) International Day for the Abolition of Slavery

Code:
Options:

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(1)
91394392977,

(a)—iii), (b)id), (e)—(i), (d)—liv)
91234392978,

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91594392979,

(a)—(1), (b)—(iv), (e)—(iii), (d)—(ii)
9133423923930,

Question Number : 145 Question Id : 91394323676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(&) (Frepa/mE)

(a) 2feme () Usdiw fere REw

(b) 3fgmeat (i) fova srfife oftt oo fama foam
(¢) 5femear (i) fawa Frvreaan feam

(d 9fmar (iv) swlsd g I feam

% :

Options:

(a)—{iv), (b)—(iii), (e)(id), (d)—~(D)
915394392977,

(a)—(iii), (b)—(ii), (e)—(i), (d)—iv)
91394392978,

(a)—(ii), (h)—(1), (e)—(iv), (d)iii)
91394332979

(a)—{i), (b)—(iv), (e)—{iii), (d)—(ii)
91394332980.

Sub-Section Number: 7
Sub-Section I1d: 9139431263
Question Shuffling Allowed : Yes

Question Id : 91394323677 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label - Comprehension



RYGY WP Eﬁpﬁﬁ@ below and answer the questions that follow based on your 'relpmg
understanding of the passage :

Child sexual abuse includes rape and sexual harassment, and is a problem which has
become a growing concern in India. It is a fact that millions of boys and girls are sexually
abused within and outside their homes by relatives or by known persons. In India, children
are expected to obey and respect others without questioning their actions. The impact of
child sexual abuse is worse in India than in any other country of the world.

Child sexual abuse is a mental or physical violation of a child with sexual intent, generally
by a person who is in the position of power and trust of a child. There are very few cases of
child sexual abuse which are reported. Other victims do not even share their plight with
their parents. The worst part is the feeling of silence and shame which characterizes the
cases of sexual abuse amongst children. The increaszing menace of child sexual abuse is not
just limited to domestic spheres but extended to places which aim at protecting the interests
of the child such as juvenile justice homes.

Many of the rape cases have taken place in juvenile justice homes i.e. special homes,
observation homes, or shelter homes, etc. The girls remain at high risk of assault and abuse
even in the protection home. There are many cases in which the perpetrators are staff
members including caretakers, security guards, ete. In most of the cases, the sexual assault
continues for a longer period as victims are not ready to dissent and endure quietly in the
absence of inspection.

Sexual abuse of a child is veiled in secrecy. It is essential for parents and guardians of the
child to get sensitized and understand the degree of the problem. It is also crucial for the
parents to create a protective environment for the child and to guide their children how to
protect themselves from sexual abuse.

Sub questions

Question Number : 146 Question Id : 91394323678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Children are sexually abused mostly by the

Options:

Relatives/known persons
915942924951,
9139439095, Caretakers

Strangers
215942392953,

Securi ards
9123943929584, v gu

Question Number : 147 Question Id : 91394323679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which one of the following does neot include a part of Juvenile Justice Homes ?
Options:

91394392985 Observation homes
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91394392936 SElter homes

= ial homes
Q1=294392957, pect

913943909gg, Temand homes

Question Number : 148 Question Id : 91394323680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Child sexual abuse is

Options:
9139439055, Dot an act of silence or shame

a mental or physical harassment of child
91394392990,
91394397991 DOt 2 sexual harassment

an act of psychological intent
91394392992, psychologl

Question Number : 149 Question 1d : 91394323681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In many cases child sexual assault continues for a longer period because

Options:

child victims are not ready to dissent and endure
91394392995,

sexual assault is done mostly with the consent of children
91394392994,

parents are not sensitised
913945392995,

parents do not create a protective environment
91394392996,

Question Number : 150 Question Id : 91394323682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What are the reasons for many cases not being reported ?

Options:
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o1 sogme i SPPetdren fail to share T UFEHR

913943929gg,  Lrustof the children

Children not ready to dissent
91394292999,

Child is veiled in zecrecy
2123345393000,

Question Id : 91394323677 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Cesticn Label | Comprehension

Fr 2w o v i wfRe s saeh =g fw o wy @ 3@ i S AR eroe wwe & SmuR W I
CUELE

aTe At e | ghen adl 49-3edted it B, oft 7w ok Ut wwen @ S wnd § o aedt faa
&1 faw adt o1 @ 8 | e v 2 o wmat wgeh it wrefeat s w3 offan sft e e foderd
HYET TH-Tg=H ardd Al 6 g0 A gEwEm & ren # @ @ | wid § =i | g e it ot 2
for & qadl it s 1 are= 39 FwEl w fada e o 6 | v # s1e e g w5 re fava
& fopeft oft s Sy P ge A A B

aTet A gEean wwrd: et st wrea wg qun o= % favaraa safaa gro @t el 6 5w

forelt ar=t 1 Wt arwran anlifeen arfosemor 2 | aTe A QEEEIT % gd A & WE s e @
STt B | 38k 31 Fyrehm a1 wran-firan <t o7 wry g8 we o 9 | 46 @aTd 8 | wed g arg e
7z @ fo aret dtw gewam & A a=at &t g g2 2t R 6 3 aodt qon e B wraen s S

2 | e A gERE W agal Fa o e Hifva 7@ @ sfew T = a9 i § oft s @

et ar=at o el <6t tam it avdam <6 St @ |

Ferete = TEt e o T, wSEm R SruEn Ew TRl w1 W e e Herd ud | |
wisferat it weam TEl | oft #@a e it e w1 sl mew T @ | U e e
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Sub questions

Question Number : 146 Question Id : 91394323678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

a1 o 419 g rfeera: Feafafiaa @ @ faeas gro g 2 2
Options:

fradgrysm-ugar safa

B12334592951.
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91394392982, b

91334592953,

e i
91394392984,

Question Number : 147 Question Id : 91394323679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Freafafiaa 4 @ s-m i =ma 1z o offea a2 2 2
Options:

HUE TR
Q1294292985

HIHH
2153394232986, T

fam 71z
91394392957,

ST 7T
91394392988,

Question Number : 148 Question Id : 91394323680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e A e

Options:

91334592959, STl T F T R

= & wEfE g srifen fasra 2
91394392990

91394392991, -3l 7 &

qetafae q90 1
91394392992, t

Question Number : 149 Question Id : 91394323681 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
I WS § AT 419 AT o GHT a6 AR TEdT § F=ifh

Options:
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91394392993, Pets farpre 3 ot et 35 forg e 8 213 & o wefra o 44 &

9139439000, T SR U = I gl W g

aren-fian gegAsfrar 78 g

913345929595,

aran-fe gean & areraton s Ffo 7@ S
91394392996,

Question Number : 150 Question Id : 91394323682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

aTe A9 eI hi 3 geAat hit Sl 7@ fire % w7 wwo § 2
Options:

B1334592997. = A o 1w

B1334592995. =

91334592999, = T 3 5 o S T

=1 foura 6t |
91394393000, R ZaEt



